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1. The standards which regulate behaviour have been termed as :

(1) Social norms (2) Social values
(3) Social behaviour (4) Social attitudes
zgeR & e 5@ o sme ) oed 8
(1) |rfoas A6 (2) s e
(3) wmfoe wWaER (4) wrnfee gfeem

2. Failure to conform to the customery norms of society is called :
(1) Deviant behaviour (2) Operative behaviour
(3) Ilegitimate behaviour (4) Non-cooperative behaviour
B B GO AEE] ®) QW & 9 I TS o9 8
(1) faufem aer (2) FATEATS WIER
(3) =rTen GrER (4) srFsarh ZaEr

3. Deviant behaviour generally threatens :
(1) Social culture (2) Social heritage
(3) Social mobility (4) Social stablility
frafea amer 4 am=a wifda e 8
(1) wrfes Wl (2) | ¥R
(3)” wrtes Tfareterar (4) Trnfoe wfae

4. Which one of the following is not a necessary characteristics of the community ?
(1) Geographical location (2) Community sentiment
{3) Stable government (4) Social homogeneity
Prefafed % § $9-9 v o1 3Fed 5@ T@ e ?
(1) “fas safufy (2) wFETS e
(3) = FEEw (4) wrnfws wEgar

§. A particular name is the essential element of society :
(1) Society (2) Community
(3) Association (4) Institution
T A A we @ aE e R
(1) §5 =1 (2) wEE
(3) 99 (4) w0

6. Who has given the concepts of gemeinschaft and gesselschaft ?
(1) Robert Redfield (2) Emile Durkheim
{3) Ferdinand Tonnies (4) Auguste Comte
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S s Wi w1 Rgra s R ?
(1) ¥ Yehies (2) durge gedta
(3) wigws Zifaw (4) e @

7. Family, church, trade union, music club are all examples of :
(1) Institution (2) Assocation
(3) Community (4) Society
oRaR, ¥4, @R w9 o Wi aow, o saww £
(1) v & 2 "Hua
(3) ¥R & (4) s &

8. Which of the following is an economic institution ?
(1) Property (2) Bank
(3) Credit (4) All of these
e % & o anflfe wwn 2 2
(1) =i 2 %
(3) \rw 4) &9 9 ¥

9. "An institution consists of a concept (idea, notion, doctrine) and structure”, who has
given this definition ?
(1) Bogardus (2) Sumner
(3) Green {4) Young
e e 5w, § ws suen (ReR, wdie, i) sty ean 0 7
(1) armds (2) "R
(3) W= (4) =

10. Which among the following is an association ?
(1) Labour Union (2) State
(3) Cricket Club (4) All of these
Padddmwmaat?
(1) 5= ¥ (2) Wy
(3) fde s7a (4) ¥ & wh

11.  Who said that mode of production determines culture ?
(1) Aristotle (2) Karl Marx
(3) Sorokin (4) Maclver & Page
e we 5 “Sees wivar s o Pt swh & 2
(1) swq (2) *& ArRi
(3) wrifE (4) frwEEEty
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12. Sociologically ‘culture’ denotes :
(1) Refinement in a person
(2) Growth of micro-organism in a laboratory
(3) Learned behaviour of man
(4) Cultivation of aesthetics
T g & o wefie ol 8

(1) =fE &% gur (2) v § siftreges ol @ R

(3) =fem @ ¥ g0 =EER (4) wr<dam @1 dus
13. Among the following, culture complex is represented by :

(1) Vegetarianism (2) Caste-system

(3) Wearing of sacred thread (4) Touching the feet of elders

= 4§ R g wivgplas wfesar weffr ad & ?

(1) wrwTERarE | (2) onfd-men

(3) ofds arm wgs | 4 IR PAA
14. Who said that Sociology and Anthropology are Twin Sisters' ?

(1) A.L.Kroeber (2) Karl Marx

(3) E. Durkheim (4) None of the above

e we 5w v weeme e a5 87

(1) To Ao HITEY (2) = AR

(3) o gdim (4) ¥ | 3§ T8
15. Animal society differs from human society in terms of :

(1) Organization (2) Discipline

(3) Value-orientation (4) Division of labour

Ara g, Prefafe aw F ug a9 | oo b

(1) §Te7 (2) srgumET

(3) e e (4) = fne=
16. The term Sociology’ was coined by Auguste Comte in the year :

(1) 1830 (2) 1833

(3) 1836 (4) 1839

e wre 3 e ot ey we R ?

(1) 1830% (2) 1833 #

(3) 1836 # (4) 1839 &
17. Who called sociology as social physics ?

(1) Maclver (2) Comte

(3) Durkheim (4) Bogardus
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TS @ e wnnfoe e e ?

(1) e 2) @re
(3) @ (4) I
18. The word 'Sociology' is derived from the Latin word :
(1) Societo (2) Socio
(3) Societus (4) Socius
& wm @ frw v @ “WREE T= @ e g 7
(1) wreEa (2) Wy
(3) WwEew (4) Wf¥ms
19. Who was the propounder of the formalistic school of Socivlogy ?
(1) Durkheim (2) Hobhouse
(3) Sorokin (4) Simmel
A & MveReaard W w1 T60e 319 o) ?
(1) gt (2) #aeEraw
(3) wfd= (4) Re
20. ‘Society is a web of social relationships,’ who said this ?
(1) Ginsberg (2) Cooley
(3) Giddens (4) Maclver
T, Wt gl @ we &, as fhes we ?
(1) fremwet @ T
(3) = (4) #aEm
21. Socialization is a process of :
(1) Role taking (2) Status defining
(3) Both (1) and (2) (4) None of these
WEIASIT TH Wik & ¢
(1) e oz 333 & (2) wRefy ofnfia & &
(3) (13l (2) 31 # @) 9§ o =&
22. Anticipatory, socialization is related with :
(1) Status (2) Role playing
(3) Role taking (4) None of these
i FreiE @ T g
(1) sRafdy & (2) s fades @
(3) e e w R/ 4) ¥ A o 7
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23. Adult socialization is the process which starts from the age

(1) 12 year (2) 14 year
(3) 18 year (4) 10 year
TUEE GG @ wihar 5w SE | g e 8 7
(1) 1274 (2) 149
(3) 18 @ (4) 10 =i
. Who has given the concept of 'looking glass self’ ?
(1) Mead (2) Cooley
(3) Blumer (4) None of these
P e Fow A smur e § 7
(1) #rs A 2 T3
(3) =pr A @) ¥ | 0 1
Who has given the theory of collective representation ?
(1) Spencer (2) Mead
(3) Durkheim (4) None of these
“wrfts sl @ fgra s fRan ?
(1) &= 3 (2 #83
(3) 7@ A (4) = 9 g 7@
. The term ‘Ethno Centrism’ has been given by :
(1) H. Spencer (2) W.G.Sumner
(3) G.S.Ghurye (4) Marx
o Ay o R m
(1) T30 VR BT (2) T@ge o FER BN
(3) o TwHo g& g1 @) = g™

- Which one of the following does not apply to social class system ?

(1) Class systems are relatively fluid

(2) Class position is entirely subjective

(3) Class has economic base

(4) Class positions are, in part, achieved

Frefafem 4 9§ #9-0 o aenfos o arven © @ 7@ e & 7
(1) = wreent TnEe 9 8

(2) &t Rufy g Rwafe

(3) =i & anfifs smuw o 2

(4) = Rafa s # wrar @ orh &
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28. Who has written the book ‘Interogating Caste’ ?

(1) Dipankar Gupta (2) K.L.Sharma
(3) M. N. Srinivas (4) A.R. Desai
FERAIET IRE A gwre e foreh & 7
(1) e (2) ®o vao
(3) o To shfrar (4) Yo 3o wrg
29. A hierarchical system in which cultural, political and economic systems are
dominated by male is known as :
(1) Patmarchy (2) Elite model

(3) Gender based division of labour  (4) Pluralistic model
a§ garpEn e e g, vordiftes 3 anftfe aewn wogedl &1 adw g &

wEa & -
(1) Rquees aawn (2) sfor awen
(3) fermanfRa sufsm= (4) Eoad e
30. According to the text the term masculinity and faminity are most closely linked 1o :
(1) Succession (2) Patriarchy
(3) Gender (4) Sex
g | it v qove A fe, woifte e g 87
(1) sooeeRr (2) frgren
(3) fom (4) w1

31. Gender role refer to :
(1) The subordination of women based on the assumption of superiority of man
(2) The rights, responsibilities, expectations and relations of men and women
(3) Sexual division of men & women
(4) None of the above
(1) 9% Hoa B [IReT B JWR W AR B sl
(2) #N-gon 3 seR, T, et iR =y
(3) =h-goy @ &ra dfre Rvom
(4) sWEm | B =&

32. Social mobility refers to :

(1) Geographical movement (2) Family movement

(3) International movement (4) Social strata movement
wrnfers e | ored 2 -

(1) tfes afadfae (2) wftafRes wfasiaa

(3) srFaisfta nfadhea (4) Wl ww & wfgdam
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33. Which among the following is not a cause of social mobility ?

(1) Caste (2) Class
(3) Development (4) Education
frafaftas @ ¥ a9 arfoe afRfam & sr F87 8 ?
(1) =nfa (2) @i
(3) \Gcac: (4) o
. Which of the following statement is nof correct with reference to social structure ?
Social structure is :
(1) A concrete phenomenon

(2) An abstract and tangible concept

(3) Neither abstract nor a concrete phenomenon

(4) Abstract as well as intangible

urnfors dean @ wed § Pefafes 9 9 s o v 9@ R 7 aeles e 2
(1) v Hge wEe @) @ I o g R

(3) 7 & st v 7 & g wweT (#) s 3l gy ot @

. The function in a social structure has been classified by Johnson as:

(1) Manifest and latent (2) Objective and subjective
{3) Involved and relative (4) Dormant and latent
e g, ve apnfore weee # e @) offga oo &

(1) et s sppd (2) e v e
(3) wonfRe @ wnde (1) P shr sopd

Which of the following is not an essential characteristics of status in modern society ?
(1) The extent to which an individual distributes rewards

(2) Influence enjoyed in administration

(3) The hereditary position of highly placed ancestors

(4) The wealth accumulated by entrepreneurship

smfye s # wfefy o Preafafea & ) @9 sFea @ 387 8 7

(1) 78 A Rt o afde, R RaRa o

(2) v # e

(3) T g @ faeh Ry

(4) wuf¥e gm s Gofy

. What does 'achieved status' signify ?

(1) Status achieved through cultural diffusion
(2) Status achieved through personality development

(3) Status acquired through competitive talent
(4) All of these
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e Tw T WEe Id & 7

(1) wFplos TN & wam ¥ 2oy i
(2) =fda fRew @ anas § wow viha
(3) witrendt ufoon @ smaw & wew vie
(4) FTwa wf

38. An achieved status is :
(1) Shared by caste-oriented people  (2) Inherited from parents
(3) Derived from abilities and skills  (4) Depends upon biological condition
wfofe wftafy # -
(1) sffRs anlt g & o
() wen-Rar | wra & mH
(3) dram ik Few § g @ R
(4) RF ot ww Pl o 8

39. Role conflict in society emerge out of the fact that :
(1) Performers do not know the nature of role expectations
(2) Thereislackofbahncem&\esymﬂdwmleperformcd
(3) They do not observe the desired standard
(4) They do not get adequate award for the role performed
e # st ol & o e o A @ 2
(1) et e &9 oo, e ® gFf § it g 2
(2) wf¥e-Fraiz e § wgam o s g &
(3) anfde st B IR T 3 I
(4) yfe-frate ov sfaa v @1 apng

40. Which among the following does not indicate status ?

(1) Bharat Ratna (2) Laborer

(3) The Title of kighthood (4) Use of the prefix 'Pandit’

s % & o whefy & 9@ aom 2 7

(1) #ee T (2) sfom

(3) =gege o Sufy (4) 9 & st 4T e B wa
41. Which is not a social role ?

(1) A worker on the field (2) A person committing a dacoity

(3) A policeman pursuing a dacoit (4) A teacher in a class

warnfors e T8 &

(1) &3 § & T are (2) =& 337 T =ufam

(3) & sda =1 Tor o ot g () B A A
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42. Which is a pnimary group ?

(1) Political group (2) Factory
(3) School (4) Family
=t 3 9 urafre e 2
(1) woifas W 2) o
(3) = (4) wRar
. 'We feeling’ is a characteristics of a :
(1) Racial group (2) Primary group
{3) Nationality group (4) Inherited group
T B UBHIE OB A8V 8
(1) e WE B (2) wufis wE &
(3) g 3 TE BT 4) sffa wE @

Primary group is important for individual for it :

(1) has spontaneous living together

(2) Provides stimulus to different members

(3) its members are a part of the same

(4) They need not have a unity in the performance of their function
s & o veife W s § Wil 0 '

(1) Ty T4 § @a 9 Ja1 8

(2) fRft= vt & iR swn @

(3) 0@ wew g0 & s B &

4) wewt @ wt @ @i F vmewn B smEvaEm A8 of 8

. Identity is a quasi-group of the following :

(1) Crowd (2) Mob
(3) Trade union (4) State
wEEr, B § A U e R
(1) W= @) wofim Hs
(3) =@uR wa (4) =g
. ‘Exogamy’is:
(1) An experimental marriage (2) Marriage within the same gotra
(3) Marriage outside the group (4) Marriage within prohibited degrees
Rrardra fare #
(1) s R (2) = ara § R
(3) uE & wew fwne (4) Pitg R & Raw
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47. The form of marriage under which girl is given in marriage to a bridegroom with
clothes and ornaments is called :

(1) Brahma (2) Asura

(3) Pishacha (4) Rakshasa

faae &1 a8 wu o av @) o=, vust ofv el B ey IR w2 2
(1) 7w faw ) sy Raw

(3) Ryma faam (4) v faas

48. A nomenclature of the family function is symbolic of :
(1) System of reckoning descent
(2) Family succession
(3) Greatness of the family
(4) System of keeping names of the members of the family

uRafe & & s | d9a e &
(1) Fwenfd & o srEwen (2) wifta® SavEEr
(3) uftar & weEFm (4) wRER & Haw &1 W =

49. Religion originated :
(1) Out of fear sense
(2) Inresponse to the felt needs
(3) In response to the authority of the power with the good of community at least
and protection
(4) None of these

o4 F T AW g
(1) 53 & PRV
(2) rpqa srasgmarl & e §
(3) ¥ & Wl @ G W dg A w@a gy 9 9wl @) sefen A
(@) swvE F & @ T8
50. Which of the following is a belief system ?

(1) Magic '(2) Felishism
(3) Totemism (4) All of these
fffan & o smer sawn &

(1) =g (2) i
(3) Treware (4) 3w
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51. Capitalism signifies :

(1) Large Scale production (2) Economic equality
(3) Economic progress (4) Economic cooperation
Toftare | s # ¢
(1) 98 w¥ = Iene (2) snfdfs s
(3) anfdi® s=if " (4) anfda wwan
52. Find out the square root of the value V1024 is:
(1) 321 (2) 244
(3) 340 : (4) None of these
V1024 @ wifgm &
(1) 321 (2) 244
(3) 340 @) 7 § =g
§3. How many types of correlation methods are there ?
(1) 3 2) 2
(3) 4 : 4) 5
wewwy R & e war £ 7
(1 3 ) 2
(3) 4 (4) 5

54. Which is/are the quality /qualities of a good observation ?
(1) Social-psychological knowledge  (2) Indepth knowledge

(3) (1) & (2) both (4) None of these
% oEd wae @ o w8 7
(1) aEfss-saafe o (2) & FF
(3) (1) 3 @)@ (4) 9 & B @
55. According to whom, "The value of the variable which occurs most frequently in a
distribution is called the mode" ?
(1) Kenny & Keeping (2) Boddington
(3) Bowley (4) Elhans
feua srem fiewor # ot =R waiE ar anar @ o9 Tgee wed § 7
(1) &% afe #fty (2) ardres
(3) draeh (4) s=9
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$6. How many types of methods of calculation of dispersion are there ?

(1) 4 2 3
(3) 2 4) 5
e & o 95 Al & fves v 8 ¢

(1) 4 (2) 3
3) 2 4) 5

§7. "The median is a positional value which is influenced by the number rather than the
size of the extreme variations.” Who has given this definition ?

(1) A.M. Tuttle
(3) (1) & (2) both

(2) Connor
(4) W. A. Neiswanger

mferer v Rl 7= € o Reedt @ ser 3 9k g & s wofaa @dr 87 we

qivamsr fses 27
(1) Qo THo 2T
(3) (1) 3 (2) =
58. Who is the father of Criminology ?
(1) E. H.Sutherland
(3) Topinard
AR W &GS FE e 7
(1) 3o gHo weRdvS
(3) s
59. Who said that, 'Criminals are Born' ?
(1) Sutherland
(3) Bentham
faus T@ awEl ST B 2 7
(1) Gezdvs
(3) a=m

2) ®r
(4) s&go Yo MR

(2) Lombroso
(4) Walter Rackles

(2) v
(4) WeeR wweH

(2) Lombroso
(4) Ram Ahuja

(2) @
(4) W Igon

60. Borstal schools are meant for the reformation of :

(1) Juvenile delinquents
(3) Convicts

Maqaﬁaﬁmtgt:
(1) faer smenf
(3) STl (Famary)

(2) Women offenders
(4) None of these

(2) wfgan smwed
(4) 571 9 o =8
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61. Theory of absolute population and relative population are associated with :

(1) Malthus & Kingsley Davis (2) K. Davis & Moore
(3) Malthus & K. Marx (4) Malthus & Thompson
wH TEET AR A S & figra e 2
(1) s 7 raa 3w (2) %o T 3[R
(3) WeaE 7 Po " (4) W 9 diwwE
62. According to the 2011 census, which state of India is the most populous ?
(1) Andhra Pradesh (2) Uttar Pradesh
(3) Goa (4) Tamil Nadu
2011 & T & saR ae A b v @ oeee waite @ 7
(1) Iru wiw (2) IR 9B
(3) viar (4) ofeng
63. Which of the following states/union, territory has the lowest sex ratio in India ?
(1) Kerala (2) Puducherry
(3) Delhi (4) Haryana
et & | g wou /vw wfsa won & femee =pas & 7
(1) =% 2) 599
(3) R=h (4) =Ramm
64. A person aged 7 years and above who can read or write with an understanding in
any language is treated as :
(1) Dliterate (2) Literate
(3) Educated (4) Uneducated
g?mmﬁmm&ﬁﬂmﬁmam,mtm,m&w
(1) Fres (2) =R
(3) e (4) sffda
65. Which of the following factor(s) is /are responsible for soil degradation ?
(1) Chemical fertilizers (2) Landslides
(3) Floods (4) All of these
#a1 el @ fag Pres & § S /@ e el @
(1) P sdew ) pEa
(3) T@ (4) sudan wf
66. "The Pollution Standard Index” (PSI) scale ranges from :
(1) 0-200 (2) 0-300
(3) 0-400 4) 0-500
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wwE A gawmie (PSI) i & -

(1) 0-200 (2) 0-300
{3) 0-400 (4) 0-500

67. Which among the following is an air pollutant ?
(1) Nitrogen (2) Carbon dioxide
(3) Carbon monoxide (4) Oxygen
Frfafem 4 3 29 I wgws 8 2
(1) =g (2) ®Es Srgsitaase
(3) wid= HsitaaEs (4) siraeoE

68. Ozone if found in atmosphere in :
(1) Mesosphere (2) lonosphere
(3) Stratosphere (4) Exosphere
argHvsE | it arft ot #
(1) #eess | (2) swTvEe A
(3) Ve # (4) swftsbvsa 3§

69. Deviance is regarded as ......... ~act:
(1) Anti-social (2) Normlessness
(3) Crime (4) Normal
R B, & wE e &
(1) wra fRdnd @) T
(3) Iw™ (4) G

70. The book, “Street Corner Society” is related with :
(1) Slum studies {2) Policy orientation
(3) Administration (4) Reformation
qETE e @R Sl i @
(1) #fem awdft spamm & (2) fa afpas @
(3) womEs @ (4) gam 4

71. Economic growth is characterized by :
(1) Modern technology
(2) Traditional technology
(3) Ancient technology
(4) Capitalism, trade and use of modern technology
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sfthm wfay zoid anh @ -

(1) sgFE TEE |

(2) TRUR® Taie |

(3) Wl oaiE &

(4) Soirare, amr IR omfE awlE @ gam |

72. 'Our common future' is related with :

(1) Human development (2) Economic development
(3) Sustainable development (4) Regional development
i s weiha ®
(1) 5 fawre | (2) s e 3
(3) wewr R @ (4) & fAww |
73. Who wrote the book, "Social Development” ?
(1) L.T. Hobhouse (2) Kingsley Davis
(3) Maclver & Page (4) None of these
He FaFwEe” e e e ford ?
(1) Tmo o Faeraw (2) e w
(3) dwEm w@ A 4) =1 9 I 78
74. The debate on sustainable development started with the :
(1) Environmental concern (2) Capital production
(3) Human capability (4) None of these
worr e o 7w wweet g o
(1) uaiaRer & Faw (2) Toh SrE & Aww
(3) = W B F@Y (4) ¥ § #
75. According to whom, concept of sustainable development was the result of a dynamic
gestation ?
(1) Sevilla-Guzman (2) Graham Woodgate
(3) Both (1) &(2) (4) None of these
e srpar waa Remw o fgra 7 e sfda & aftors a ?
(1) W @) ww geie
(3) (1) 3R (2) B (4) ¥ A B 7
76. Who among the following is not a supporter of the theory of underdevelopment ?
(1) A.G. Frank (2) Gunnar Myrdal
(3) Immanue! Wallerstein (4) L.T.Hobhouse
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16
Preafafaa 3 9 #f% sefRew fgr @ onis 787 ¢ ?

(1) Yo o B (2) T fda
(3) Fg¥a g (4) e WMo BhasrEw
77. Who has given the term, ‘Development of underdevelopment’ ?
(1) Max Weber (2) Karl Marx
(3) A.G. Frank (4) A.R. Desai
Bawode e swevdaeyie od fs R ?
(1) #aw I (2) et s
(3) To Sfo Hha (4) To ¥Ro U
78. Whoisﬂnauﬂmofﬂebook,'lndia‘s?a&of&zvdopmt‘?
(1) K.L.Sharma (2) S.L.Sharma
(3) Yogendra Singh (4) A.R Desai
eI W e Iaavie awE gEw 3 dus a7 E 2
(1) #o vdo Wi (2) THo Gaio T
(3) arre fe (4) To 3Ro Famf
79. What is the sex ratio of India according to the 2011 census ?
(1) 945 (2) 940
(3) 951 (4) 947
a4 2011 A TN B FTAR AR F R @
(1) 945 (2) 940
(3) 951 (4) 947
80. Which state in India has the largest population according to 2011 census ?
(1) Rajasthan (2) Bihar
(3) Goa (4) Uttar Pradesh
T4 2011 B TV B AR WRY F By wow B Fewen aoife &2
(1) o 2) fER
(3) e (4) SR wEw
81. CBR stands for:
(1) Crude Birth Reproduction (2) Crude Birth Rate
(3) Crude Birth Ratio (4) Crude Birth Region
CBR @1 oef &
(1) =3 o Sregaa (2) s 7 =
(3) we a2 W (4) mz 7o fo=

M. Phil/Ph. D/URS-EE-Jan.-Dec.-2017/(Sociology)/(A)
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82. Who is the father of Demography ?
(1) John Grant
(3) Hauser & Duncan
TS B TS D e 7
(1) @F e
(3) TSR MR EHA

17

(2) Guillard
(4) Cox

@) fremd
(4) wiaw

83. Which among the following is wot included in the National Population Policy 20007
(1) Importing free and compulsory education above 14 years of age

(2) Reducing infant mortality rate

(3) Achieving universal immunization of children against all vaccine preventable

diseases

(4) Making family welfare, a people-centred programms.
Prafaftee # @ et werrem A 2000 3w wifen T8 & 2
(1) 14 of & I F wht 2Ry A g @ e e

(2) frg 5 = & w5 &

(3) & A R T wES o Al | et § Wiyl sRees @ o o

B

(4) sRar s ® T3-S sdEs T

84. Genderisa:
(1) Biological Concept
(3) Both (1) & (2)
fom &
(1) Wfas sm@amon
(3) (1) 3 (2) =t

85. Fecundity refersto:
(1) Actual production

(2) Social Construct
(4) None of these

(2) wonfes Aftd
(4) $8% F § wig 8

(2) Biological capacity

(3) Living offspring (4) No. of children

TR § w2

(1) Trfee SeEHar (2) @Ry s

(3) ffd siwfgn (4) == & "
86. Who has given the concept of 'typification’ ?

(1) Max Weber (2) Cicourel

(3) Alfred Schutz (4) Husserl

M. Phil/Ph. D/URS-EE-Jan.-Dec.-2017/(Sociology)/(A)

P.T.0.



18

egdfraT @ smaren fFas g & ) ?
(1) #=9 qa (2) Ryane
(3) w@hs O 4) Bud

. Neo-Marxism does not believe in the :

(1) The inevitability of the ‘Prolitariat Revolution’
(2) A classless and stateless society

(3) Both (1) &(2)

(4) None of these

To-rwfare Rva 78 @

(1) Wieefve Reegrer & sfyrf

2) #té= 3 wads v §

(3) (1) 3R (2) T A

(4) 39 A orf =&

Which among the following is not a levels of society ?

(1) Economic Formation (2) Political Level
(3) Ideological Level (4) Cultural Level
Prafafas 4 9 @ o &1 = 7@ e ?

(1) anf¥s Prafor (2) W ww

(3) & ww (4) wiephe ww

. According to Habermas, critical theory can be located between :

(1) Philosophy and Science (2) Science and Sodial Science
(3) Philosophy and Social Science (4) None of these

RAvETE B AR e g @ van o wea @

(1) z3t=oa ok Rem @ = (2) Rem & wonfes Ras & =
(3) wH=wes IR Ao Rem @ Aen (4) 79 9 3 A8

. Habermas disagrees with Marx on Several Grounds, which amang the following

statements shows his agreement with Marx :

(1) Capitahist society is to collapse as a result of class conflicts
(2) State is a part of the superstructure

(3) Rich becoming richer and poor poorer

(4) Search for non-capitalist ways of social organization

M. Phil/Ph. D/URS-EE-Jan.-Dec.-2017/(Sociology)/(A)
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taars A= st w od e | swen 8 Pefafan 3 9 e sua 98 wed
| GEwa e 2 7
(1) aregd @ weor Gofrard) s e 8
(2) rou, wate weg 1 Uw N B
(3) ¥R o @ 3R mer e e @ e @ w2
(4) wrnferm wres & Ry R-Gehad) el 2 @@

91. The concept of Simulation' has been given by :

(1) Baudrillard (2) Horkhiemer
(3) Adormo (4) Lyotard
wr w1 fgra e R
(1) g () F@Em
(3) vt (4) @wirerd
92. Who was compared modernity with a juggernaut’ ?
(1) D.Harvey (2) Thomson
(3) A.Giddins (4) V.Seidler
e smfiem @ goen weEfe @ 2
(1) o gt (2) orEa
(3) To Pz (4) &o e
93. 'Post modern Society is a risk society.’ Who has said this ?
(1) Anthony Giddins (2) David Marsh
(3) Robert-Dahl (4) Marx
IR IgfE W, fas s e 2 e e ?
(1) =i fafess (2) 3fe =t
(3) ¥ed sEa (4) wrei
94. Which theoretical orientation rejects cause and effect co-relationship as explanatory to
human behaviour ?
(1) Post-modern (2) Conflict
(3) Critical (4) Phenomenology
“FRULTHN e B T WAER B R A S B ae duie sew
(1) SR amgfw (2) wend
(3) wfas (4) wew-frm e
95. Who does not accept 'meta narratives' ?
(1) Lyotard (2) Baudriilard
(3) Both (1) & (2) (4) Adormo
e Rfew @ o @ A € 7
(1) faarerd (2) asdae
(3) (1) 3= (2) 2 (4) v

M. Phil/Ph. D/URS-EE-Jan.-Dec.-2017/(Sociology)/(A) P.T.O.



96. Globalization has developed :

(1) International trade (2) Transnational corporations
(3) Global communication network (4) All of these
EvsdtaEe F et s
(1) smisfa amr (2) ey s
(3) &fas waR o5 () T | @
97. Main responsibility in a Kibbutz System is :
(1) Child care {2) Parental care
(3) Old age care (4) Women care
Tmear amawen § g ofvw 8
(1) =rEes $w 2) trew B
(3) ¥ee T R (4) T IW
98. Alexanderisa:

(1) Conflict theorist (2) Neo-functionalist
(3) Etheno methodologist (4) Post modernist
FaTee § -
(1) wud Ranad (2) Pelwemfae
(3) wFE AR (4) R sPEHaEE

99. The book, “The theory of Communicative Action,” has been written by :
(1) Jurgen Habermas (2) Theodor Adorno
(3) Alfred Schutz (4) None of these
7 ) 3w sYfee we e gas frd e
(1) o Eaenrs (2) frrer @
(3) =hs ¥9 (4) ¥ @ wrf

100. Durkheim in his study of suicide has used .......... method :
(1) Comparative (2) Historical
(3) Case study (4) Participant observation
TEW A FeE B T A L, Ay @ i fn 2
(1) qerem (2) e
(3) =fam s (4) wrfrard wdem
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1.

4.

Which is not a social role ?

(1} A worker on the field

(3) A policeman pursuing a dacoit
aEferE w768 &

(1) &35 % 71 s¢ aren

() v sHa ® dor FA A gl
Which is a primary group ?

(1) Political group

(3) School

= # 3 ofae we @

(1) vt wqE

(3) =&

'We feeling' is a characteristics of a :
(1) Racial group

(3) Nationality group

T W (R U e

(1) = =g @

(3) v & wE &

(2) A person committing a dacoity
(4) A teacher in a class

(2) =& v aen aflm
(4) T8 9 P

(2) Factory
(4) Family

2) wuh
(4) ofRar

(2) Primary group
(4) Inherited group

) wufs wE w
(4) T wE o

Primary group is important for individual for it :

(1) has spontaneous living together

(2) Provides stimulus to different members

(3) ltsmembetsmapartofﬂ\em

(4) They need not have a unity in the performance of their function
s aft @ oy gfts T amavrs & sty u

(1) THEN EF | WO o T
(2) Rfr wawi 71 3Ra e &
(3) To% sew, ot & s A 2

() wERl & Pl @ 9 N vee @ sEwmea T8 o 2

Identity is a quasi-group of the following :

(1) Crowd (2) Mob

(3) Trade union (4) State
wEe, B | uw wr ok @

(1) #r= ) v s
(3) =mw w9 4)

V1. Phil/Ph. D/URS-EE-Jan.-Dec.-2017/(Sociology)/(B)
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6. ‘Exogamy’is:
(1) An experimental marriage
(2) Marriage within the same gotra
(3) Marriage outside the group
(4) Marriage within prohibited degrees

Rudg Ras 8
(1) varmes fRar (2) wwm s i Raw
(3) o & wew faaw (4) fafig fadt & faaw

7. The form of marriage under which girl is given in marriage to a bridegroom with
clothes and ornaments is called :

(1) Brahma (2) Asura

(3) Pishacha (4) Rakshasa

faam @ 8 w9 forad @ @ T, $ue ik e @ we oo 8 2
(1) = Raw 2) R faw

(3) foema faars (4) vew fRaw

8. A nomenclature of the family function is symbolic of :

(1) System of reckoning descent

(2) Family succession

(3) Greatness of the family

4) Smofkeepingnamesofﬂ\eumoﬂhehnﬁly

ufaRe @ ¥ spave § gee e @ -

(1) sraenf @ o @awn (2) wRafe saufaar

(3) afRar & @ (4) wRar & Wt @1 AW W
9. Religion originated :

(1) Out of fear sense

(2) In response to the felt needs

(3) In response to the authority of the power with the good of community at Jeast

and protection
(4) None of these

W war #
(1) % & FWY
(2) S SrEEEl 6 s A
(3) wgam B W T GeET W BE # v g @ wReR @ sghem A
(4) wwdwm # | g T
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10.

1.

12

13.

14.

15.

Which of the following is a belief system ?

(1) Magic (2) Felishism

(3) Totemism (4) Al of these
il 3 o amen argan &

(1) wmg (2) weRfre

(3) SFmag 4) 2 wh
Socialization is a process of :

(1) Role taking (2) Status defining
(3) Both (1) and (2) (4) None of these
e g ofdar 2

(1) @ Tgw HE # (2) wfafy ufsfa & &
(3) ()3 (2) T & 4) ¥ & ¥ =8
Anticipatory, socialization is related with :

(1) Status (2) Role playing
(3) Role taking (4) None of these
Ffim wrrdfET w1 we

(1) nfeafdy 3 (2) s e &
(3) e wen B @) T A 3
Adult socialization is the process which starts from the age :
(1) 12 year {2) 14 year

(3) 18 year (4) 10 year

quTE AR @) ufkar fhe Su @ s ot & 7

(1) 123 (2) 14k

(3) 18 wd (4) 10 =4

Who has given the concept of 'looking glass self' ?

(1) Mead ) Cooley

(3) Blumer (4) None of these
i ww de B seawen B &7

(1) Az 3 @ =3

(3) =pw A (4) & | 1 7
Who has given the theory of collective representation ?

(1) Spencer (2) Mead

(3) Durkheim - (4) None of these

M. Phil/Ph. D/URS-EE-Jan.-Dec.-2017/(Sociology)/(B) ! PO O,



“arffew sfoffe &1 Rgre e fan ?

(1) ¥=w 3 (2) #rs A
(3) 3 A @) ¥ A 38 @
16. The term 'Ethno Centrism' has been given by :
(1) H.Spencer (2) W.G. Sumner
(3) G.S.Ghurye (4) Marx
suen dfgew @8 R
(1) T9c ¥R EWT (2) swge WMo TR W
(3) o vEo g gwr (4) sl g

17.. Which one of the following does not apply to social class system ?
(1) Class systems are relatively fluid
(2) Class position is entirely subjective
(3) Class has economic base
(4) Class positions are, in part, achieved :
frafafaa 4 9 o9-8 o9 wefas o e W @r) 78 @69 8 7
(1) = vt wmds 29 §
(2) o frufa gofe: Rwafe 8
(3) @ @ sfhes smaw g B
14) @t Rafy et 3 urer @ ik @

18. Who has written the book Tnterogating Caste’ ?

(1) Dipankar Gupta (2) K.L,Sharma
(3) M. N. Srinivas (4) A.R.Desai
TR e awe g e el g 7
(1) iy T (2) o Yo I
(3) THo o AFAETH (4) To FRo TEE
19. A hierarchical system in which cultural, political and economic systems are
dominated by male is knownas :
(1) Patriarchy - (2) Elite model

(3) Gender based division of labour (4) Pluralistic model
ae ye agw e wihpfds, worifs @ snffis amwen o g W adwa @ @

wEd &
(1) Pregrerems aawen (2) sfyw e
(3) fEmaia smidaem (4) wEEard) wWEw
20. According to the text the term masculinity and faminity are most closely linked to =
(1) Succession (2) Patriarchy
(3) Gender (4) Sex

M. Phil/Ph. D/URS-EE-Jan.-Dec.-2017/(Sociology)/(B)



gwre! ¥ sfeafan e yove R 0w, waifts e wag 82

(1) sefER (2) Rgww
(3) o (4) wore
21. The standards which regulate behaviour have been termed as :
(1) Social norms (2) Social values
(3) Social behaviour (4) Social attitudes
e = Rt &9 T Te 3 e 8
(1) arnfors we (2) wrfors e
(3) wifere Z@er 4) Wi gfew
22. Failure to conform to the customery norms of society is called :
(1) Deviant behaviour (2) Operative behaviour
(3) Ilegitimate behaviour (4) Non-cooperative behaviour
A @ WA WS B G R A A a3 8
(1) Rrafea amen (2) vETETETE WaEe
(3) @y @mEErR (4) srwearh amER
23. Deviant behaviour generally threatens :
(1) Social culture (2) Social heritage
(3) Social mobility (4) Social stablility
faufam wasr & wmrmn: wrfde o 2 -
(1) wmfers waptd (2) wrfe o
(3) srnfom nfdfem (4) arfas wnfie
24, Wlﬁchmeoftbefoﬂowingisuotamrychamdeﬁsﬁmoﬂhemmmﬁty?
(1) Geographical location (2) Community sentiment
(3) Stable government (4) Social homogeneity
Frfafas # @ o wem & sfart oaw 98 2 2
(1) rifee amafafy (2) wrEfE W
(3) =l Eow (4) Wt TRET
25. A particular name is the essential element of society :
(1) Society (2) Community
(3) Association (4) Institution
& R I, WA W smene g
(1) s 2) wgEm
(3) wHa (4) wHw=n

M. Phil/Ph. D/URS-EE-Jan.-Dec.-2017/(Sociology)/(B) P.T.0.



26. Who has given the concepts of gemeinschaft and gesselschaft ?

(1) Robert Redfield (2) Emile Durkheim
(3) Ferdinand Tonnies (4) Auguste Comte
Wfme v Sifemee @ fagre fvas R ?
(1) ¥ Yedres ) $sa gE@m
(3) wf¥sws iy (4) FmE e
27. Family, church, trade union, music club are all examples of :
(1) Institution (2) Association
(3) Community (4) Society
ofarw, wd, anawr We i Wi oo, Wi SeEw
(1) W @ (2) sa @
(3) wEE & (4) WA &
28. Which of the following is an economic institution ?
(1) Property (2) Bank
(3) Credit (4) Al of these
= § | @ e wen 8 7
(1) <y @
(3) wrE @ T aah
29. "An institution consists of a concept (idea, notion, doctrine) and structure”, who has
given this definition ?
(1) Bogardus (2) Sumner
(3) Green (4) Young
v w1 & v, 3w smaron (ReEr, e, ) s svea & 7
(1) @Ew (2) &
(3) = (4) =
30. Which among the following is an association ?
(1) Labour Union (2) State
(3) Cricket Club (4) All of these
i dwm g 87
(1) == =g 2 wsa
(3) fvde oom 4) 79 & 30
31. The concept of ‘Simulation’ has been given by :
(1) Baudrillard (2) Horkhiemer
(3) Adormno (4) Lyotard
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mmmwm:

(1) aefiere (2) didhw
(3) vt (4) wmrerd
32. Whowascmnparedmodenﬁtywiﬁta'juggmut’?
(1) D.Harvey (2) Thomson
(3) A.Giddins (4) V.Seidler
e smgfwar & T WA | P 8
(1) o st (2) et
(3) vo ffde=y (3) 9o freaw
33. 'PustmodcmSocietyisaﬁskwdety.'Whohassaidﬂﬁs?
(1) Anthony Giddins (2) David Marsh
(3) Robert-Dahl (4) Marx
SR MRS T, S s e & e w2
(1) v=irh frfe=y 2) ¥z st
(3) e s (4) W
34. Which theoretical orientation rejects cause and dfecteo-mlaﬁons}upascxplamtory to
human behaviour ? .
(1) Post-modern (2) Conflict
(3) Critical 4) thommology
mmwdwmaﬂm#mmm-mmt
(1) e smgfre ; () wed
(3) #ifm (4) =e=n-frgr Rem
35. Who does net accept ‘'meta narratives' ?
(1) Lyotard (2) Baudrillard
(3) Both (1) & (2) (4) Adormo
Hel Rfzew W @1 78 W & 7
(1) fared (2) wrafand
(3) (1) s (2) gt (4) vEa

36. Globalization has developed :
(1) International trade
(2) Transnational corporations
(3) Global communication network

(4) All of these
AvEEETT 3 Refa M

(1) srFadsha amr (2) wrrEhy Py
(3) 2f¥as w3 4) 7 | =0
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37.

42.

(1) Child care (2) Parental care
(3) Old age care (4) Women care
e oravn 3 g@ it §
(1) =WEEs FW (2) e aw
(3) 3hee (@ IW (4) T BW
Alexander isa:
(1) Conflict theorist (2) Neo-functionalist
(3) Etheno methodologist (4) Post modernist
seauiey &
(1) werd fraad (2) Fe-warEfawe
(3) vl AuSEifRe (4) I oA
The book, "The theory of Communicative Action,” has been written by :
(1) Jurgen Habermas (2) Theodor Adorno
(3) Alfred Schutz (4) None of these -
7w Wi etk geer e s fad oE
(1) s Baa @) fraEr geEt
(3) whs YF 4) ¥ | FE A
Durkheim in his study of suicide has used .......... method
(1) Comparative (2) Historical
(3) Case study (4) Participant observation
gedts 3 e @ AT A Ry = v far 2
(1) qETe (2) ety
(3) =fde g (4) i) wdeor
41. Theory of absolute population and relative population are associated with:
(1) Malthus & Kingsley Davis (2) K. Davis & Moore
(3} Malthus & K. Marx (4) Malthus & Thompson
e s SR ame e @ Rigra g @
(1) wreerd @ faras 3w (2) do 3w 7 W
(3) =oas T o AR (4) sy g wfE
According to the 2011 census, which state of India is the most populous ?
(1) Andhra Pradesh (2) Uttar Pradesh
(3) Goa (4) Tamil Nadu
2011 % T @ FEn aRa A e T @ aeen waiee @ 7
(1) ¥ w37 (2) SeR e
(3) " (4) afeTg

Main responsibility in a Kibbulz System is:
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43. Which of the following states/union, territory has the lowest sex ratio in India ?

(1) Kerala (2) Puducherry

(3) Delhi (4) Haryana

Frefafta & & R o0 /v wita wog @ R wpw ¢ 2
(1) % ?) 99

(3) R=h (4) R

any language is treated as

M. Phil/Ph. D/URS-EE-Jan.-Dec.-2017/(Sociology)/(B)

- A person aged 7 years and above who can read or write with an understanding in

(1) Iliterate (2) Literate
(3) Educated (4) Uneducated
?‘::?mmmmwﬁrﬂrﬁmﬂfawam.mabm. aRn R 99
(1) fer @) e
(3) e (4) sfaide

- Which of the following factor(s) is /are responsible for soil degradation ?
(1) Chemical fertilizers (2) Landslides
(3) Floods (4) All of these
a1 Pl @ fag frea 4 @ @ /8 o oo &
(1) wamfe st (2) sEEe
(3) @rg (4) SudraT i
“The Pollution Standard Index” (PSI) scale ranges from :
(1) 0-200 (2) 0-300
(3) 0-400 4) 0-500
W g gaais (PSIH Renle @
(1) 0-200 (2) 0-300
(3) 0-400 (4) 0-500

- Which among the following is an air pollutant ?
(1) Nitrogen (2) Carbon dioxide
(3) Carbon monoxide (4) Oxygen
s A M ag aqe 2 7
(1) “geom (2) s TRITRIEE
(3) T AERTEEES (4) ftmftas
Ozone if found in atmosphere in :
(1) Mesosphere (2) Ionosphere
(3) Stratosphere (4) Exosphere

P.T.0.
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51.

agEeEE # Sirer gl o @

(1) weawves & (2) sFTvEd
(3) THagHvES i (4) aftstoss
Deviance is regarded as ........... act:

(1) Anti-social (2) Normlessness
(3) Crime (4) Normal
R & i w1 T Wl 8

(1) o faeh (2) Aridang

(3) s (4) =

The book, “Street Corner Society” is related with :

(1) Slum studies {2) Policy orientation
(3) Administration (4) Reformation
9E e meR Senadr ywnr €

(1) #fEm o o | (2) ey sifvga= @
(3) W | (4) TR E
Gender role refer to :

(1) The subordination of women based on the assumption of superiority of man
(2) The rights, responsibilities, expectations and relations of men and women
(3) Sexual division of men & women

(4) None of the above

de st @ oot @

(1) 9o Zmaar @ glarvn & JMR G At @ sl

(2) ©ge @ IR, D et v T

(3) ¥i-gvu & §ra dfMa e

(4) o A | W 48

Social mobility refers to :

(1) Geographical movement (2) Family movement

(3) International movement (4) Social strata movement
wrnfore aftrdfie & awed 2

(1) sffers afddiem (2) TiRafte o

(3) o e (4) wenfore W @ afadfem
Which among the following is mot a cause of social mobility ?

(1) Caste (2) Class

(3) Development (4) Education

M. Phil/Ph. D/URS-EE-Jan.-Dec.-2017/(Sociology)/(B)



1
Frefafae & 3 o sl aftsfom & s 98 8 7
(1) snfa (2) @t
(3) Ram (4) fmm

Which of the following statement is not correct with reference to social structure ?
Social structure is :

(1) A concrete phenomenon

(2) An abstract and tangible concept

(3) Neither abstract nor a concrete phenomenon

(4) Abstract as well as intangible
mmam-}mwmmmm 78 & ? wenfore awan 2
(1) v& Y waen (2) % apgd v ge g

(3) = & s e 7 & wET wwe (4) armt R sgem aR &

. The function in a social structure has been classified by Johnson as :

(1) Manifest and latent (2) Objective and subjective
(3) Involved and relative (4) Dormantand latent
ST BRI, U@ Pt T A o @) ariien ¢

(1) 5 sitw apgd 2) e A feafre
(3) wnfta 5 e (4) Pftsn 3w st

Which of the following is #ot an essential characteristics of status in modern society ?
(1) The extent to which an individual distributes rewards

(2) Influence enjoyed in administration

(3) The hereditary position of highly placed ancestors

(4) The wealth accumulated by en i

IMfE wore & sl o Frefafee 8 @ @ o e ?

(1) =& #en fred v aiff, qeeer Rala awar &

(2) wemEs ¥ geE

(3) Femvee gdor @ A Rufy

(4) safr g wfaa Wy

- What does ‘achieved status’ signify ?

(1) Status achieved through cultural diffusion

(2) Status achieved through personality development
(3) Status acquired through competitive talent

(4) All of these

it Wow e aa & ?

(1) OFgie UoR @ wrem | Wew vhs

(2) afds faem & mam 9 RWew vés

(3) wfderlt wfin @ e § Wew vie

(4) ST =

M. Phil/Ph. DIURS-EE-]M.-DR.-ZDUI(Sodology)/(B) A {0 X
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58. An achieved statusis:

(1) Shared by caste-oriented people  (2) Inherited from parents
(3) Derived from abilities and skilis ~ (4) Depends upon biological condition
wfoia oftefa & -
(1) snfasfRa &l g & wd
(2) wen-fa | v &
(3) avaa I BT B WG ST
(4) NMaw Tt w Felv s B

§9. Role conflict in society emerge out of the fact that :
(1) Performers do not know the nature of role expectations
(2) There is lack of balance in the system of the role performed
(3) They do not observe the desired standard
(4) They do not get adequate award for the role performed
wma ¥ i ek @1 o Bps aen @ @
(1) s Pides a7 aen, et @ ool & suffe da @
(2) yfan-Prate o A dae o1 s o 8
(3) 3w FFE B FARE I D DR
(4) wFre-Fate v ofte qeesw @1 s

60. Which among the following does not indicate status ?

(1) Bharat Ratna (2) Laborer

(3) The Title of knighthood (4) Use of the prefix "Pandit’
fr= % 9 @ wiafr & s qam & 7

(1) #wa =1 (2) =fas

(3) “ngegs & v (4) = B AT “uRw e B A

61. Economic growth is characterized by :
(1) Modemn technology
(2) Traditional technology
(3) Ancient technology
(4) Capitalism, trade and use of modern technology
anfde gnfy aoidt owht 2 -
(1) smfyas awds R
(2) urufdy wede @
(3} W wwE B
4 T, amR iR amgPe oedle 2 |/

M. Phil/Ph. D/URS-EE-Jan.-Dec.-2017/(Sociology)/(B)
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62. 'Our common future' is related with :

(1) Human development (2) Economic development
(3) Sustainable development (4) Regional development
BAR {E AW g #
(1) % e & (2) anf¥w Rem &
(3) woa fdwm & 4 &= Rew A
. Who wrote the book, "Social Development” ?
(1) L.T. Hobhouse (2) Kingsley Davis
(3) Maciver & Page (4) None of these
e Fmewie” e g e ) ?
(1) T&e S Shesy (2) fraer 2fdg
(3) Ao w@ (4) 9 & o
» The debate on sustainable development started with the :
(1) Environmental concern (2) Capital production
(3) Human capability (4) Noneof these
W fawr o aEw wwer gg o -
(1) uutawer & Jaw 2) ot saes &7 o
(3) wfty wapT @) AW (4) =7 | 31§ o8
- According to whom, concept of sustainable development was the result of a dynaniic
tion ?
(8le)5tachilla-Guzmn (2) Graham Woodgate
(3) Both (1) &(2) (4) None of these
o saw wow Rew w Rgra afs Rem o o1 oRos a ?
(1) &fE-e (2) wEw gaire
(3) (1) af (2) =1 (4) 77 @ ¢
- Who among the following is not a supporter of the theory of underdevelopment ?
(1) A.G.Frank (2) Gunnar Myrdal
(3) Immanue! Wallerstein (4) L.T. Hobhouse
Frafafan @ @t sfrmm fagra = wmls 797 8 7
(1) o oo B @ TR e
(3) shgea s (4) o o gfasraw
- Who has given the term, Development of underdevelopment’ ?
(1) Max Weber (2) Karl Marx
(3) A.G. Frank (4) A.R. Desai

M. Phil/Ph. D/URS-EE-Jan.-Dec.-2017/(Sociology)/(B) P.T.O.
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Fqawie 3t srevdaagae 24 fves Rar ?

(1) %@ IR (2) wrd st
(3) To o W (#) To w0 Awr
68. Who is the author of the book, 'India’s Path of Development’ ?
(1) K. L.Sharma (2) S.L.Sharma
(3) Yogendra Singh (4) A.R.Desa
§RgaT T AT FaEWIE” ARG GEE @ da@e #9 § 7
(1) ®o Yo I (2) vHo Toto ¥l
(3) arr= e 4) To IR0 e
69. What is the sex ratio of India according to the 2011 census ?
(1) 945 (2) 940
(3) 951 (4) 947
ad 2011 B T & JTER w0 F e @
(1) 945 (2) 940
3) 951 (4) 947
70. Which state in India has the largest population according to 2011 census ?
(1) Rajasthan (2) Bihar
(3) Goa (4) Uttar Pradesh
ol 2011 B TV F SFER W @ e wer @ sresn vl @7
(1) TR (2) faerm
(3) *ma (4) ¥ wdn
71. CBR‘sundgfor:
(1) Crude Birth Reproduction (2) Crude Birth Rate
(3) Crude Birth Ratio (4) Crude Birth Region
CBR @1 =9f 8 :
(1) m= e Svirsar (2) %3 a9 &
(3) @ a=f P (4) s = dom
72. Who is the father of Demography ?
(1) John Grant (2) Guillard
(3) Hauser & Duncan (4) Cox
SET®T @ o A 8 ?
(1) &t are (2) fred
(3) erawe o =@ (4) was

M. Phil/Ph. D/URS-EE-Jan.-Dec.-2017/(Sociology)/(B)
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73. Which among the following is not included in the National Population Policy 2000 ?

74.

75‘

(1) Importing free and compulsory education above 14 years of age

(2) Reducing infant mortality rate

(3) Achieving universal immunization of children against all vaccine preventabl
diseases

(4) Making family welfare, a people-centred programms.
Frifefla @ wefia oieen AR 2000 # @ wifem 7878 7
(1) 14 78 3 s & w0 af @ gva w@ sfad e

(2) Wy 59 w B B e
(3) ¥ & I o wE T AR ¥ Tt A b sRdeem @ @ oo

YA
(4) Raw semw B w-BPeT FRiET T

Genderisa:

(1) Biological Concept (2) Social Construct
(3) Both (1) & (2) {4) None of these
o 2.

(1) s smaron (2) o S
(3) (1) 3 (2) 2 @) =01 3 | I a8
Fecundity refers to :

(1) Actual production (2) Bivlogical capacity
(3) Living offspring (4) No. of children
TEWTT W g #

(1) Trw=ifas samEea (2) My e

(3) fafam siwfism (4) Tet @ wem
Who has given the concept of ‘typification’ ?

(1) Max Weber (2) Cicourel

(3} Alfred Schutz (4) Husserl
TR I smareon s g & ol ?

(1) fs Jaw (2) fEna

(3) srks = (4) weet
Neo-Marxism does not believe in the :

(1) The inevitability of the Prolitariat Revolution'
(2) A classless and stateless society

(3) Both (1) & (2) -

{4) None of these

M. Phil/Ph. D/URS-EE-Jan.-Dec.-2017/(Sociology)/(B) P.T.0.
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Ta-wEvae Rwam 7@ o -

(1) wWieeRve Rerepm 3t styada

(2) wtdra v ol WA 4

(3) (1) 3 (2) B A

(4) 70 | = 98

Which among the following is not a levels of society ?

(1) Economic Formation {2) Political Level

(3) Ideological Level (4) Cultural Level
fr=fafaa # 9 o9 oe &1 W T8 & 7

(1) s Feio : (2) vifes =R

(3) F=R® "R (4) TRPE T
According to Habermas, critical theory can be located between
(1) Philosophy and Science (2) Science and Social Science

(3) Philosophy and Social Science (4) None of these

BavTa @ sER srereeTeRs g ®1 v o wa &

(1) sd=mea o Res 3 = (2) Ry g wenfors s &
(3) wetawm o arfoe faem @ m (4) e @ @ T8

. Habermas disagrees with Marx on Several Grounds, which among the following

statements shows his agreement with Marx :

(1) Capitalist society is to collapse as a result of class conflicts
(2) State is a part of the superstructure

(3) Rich becoming richer and poor poorer

(4) Search for non-capitalist ways of social organization
gavwe R SRt ) we Al § e 8, Prefaiae & @ o wes o
| wend e & 7

(1) @iwed & Frer Tofard) W wa een

(2) wron, Hale #Ra B U@ AT

(3) 3R MR f e g R e s @ 8

(4) wwifrs wiem @ g Ae-gefard et o @

. Who said that mode of production determines culture ?

(1) Aristotle (2) Karl Marx

(3) Sorokin (4) Maclver & Page
e wer & “Searee wfvar depfy o P =@ 2 2

(1) a¥%g (2) @1 #EH

(3) wifEs (4) frPEERT I

M. Phil/Ph. D/URS-EE-Jan.-Dec.-2017/(Sociology)/(B)
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82. Sociologically ‘culture’ denotes :

(1) Refinement in a person

(2) Growth of micro-organism in a laboratory
(3) Learned behaviour of man

(4) Cultivation of aesthetics

e g § wir weife owh ¢

(1) =fda # gur (2) vanremen # sfwgs ofdl & e
(3) =¥ 7 e g @9ER (4) wreddn &1 Iue
AmongdtefoUOWing.culhnecomplexisreptesetuedby:
(1) Vegetarianism (2) Caste-system
(3) Wearing of sacred thread (4) Touching the feet of eiders
7= A @ s g wefYe aftwar wie af & 2
(1) TR | (2) onfa-war
(3) wf@z avm vE=A R @) TN}
WhosaidtlmSodologyandAmhwpologyau’Tmeistets'?
(1) A.L.Kroeber (2) Karl Marx
(3) E.Durkheim (4) None of the above
Rt wer R wwmoremer’ sl e S vedt # 7
(1) To THo B (2) el wrad
(3) do iy (@) 77 3 o =&

- Animal society differs from human society in terms of :
(1) Organization (2) Disapline
(3) Value-orientation (4) Division of labour
e T, Pefafe o § oy v | ser #
(1) e (2) srgomE
(3) ou wwE (4) =m Rurer

- The term 'Sociology” was coined by Auguste Comte in the year :
(1) 1830 (2) 1833
(3) 1836 (4) 1839
e e # fw o warmwrer W R ?
(1) 18304 (2) 1833 &
(3) 1836 # (4) 1839 #

» Who called sociology as social physics ?
(1) Maclver (2) Comte
(3) Durkheim (#) Bogardus

M. Phil/Ph. D/URS-EE-Jan.-Dec.-2017/(Sociology)/(B) P.T.O.
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91.

FurTTeE @ e e sy @ ?

(1) AwEa (2) &7

(3) & (4) @rmrda

The word "Sociology’ is derived from the Latin word :

(1) Societo (2) Socio

(3) Societus (4) Socius

A= s & v v | i e @ w5 7
(1) Hrage (2) i

(3) whwgea (4) Hfms

Who was the propounder of the formalistic school of Sociology ?
(1) Durkheim (2) Hobhouse

(3) Sorokin (4) Simmel
g @ sfraeoRdy we o wae @ an ?

(1) e (2) sfeEsy

(3) "= (4) RrE

‘Society is a web of social relationships,’ who said this ?

(1) Ginsberg (2) Cooley

(3) Giddens (4) Maclver
T, FEfee et 1 W@e &, 4 v @ 7

(1) Pt ; 2 ==

(3) fré=s (4) FwEw
Capitalism signifies :

(1) Large Scale production (2) Economic equality
(3) Economic progress (4) Economic cooperation
Guftare & sifdra @

(1) o8 ®R # I9EA (2) anfdim T
(3) anfdfs I=fa (4) anfés weam
Find out the square root of the value J1024 is:

(1) 321 (2) 244

(3) 340 (4) None of these
V1024 @ wiva

(1) 321 (2) 244

(3) 340 (@) ¥ & =i 78

M. Phil/Ph. D/URS-EE-Jan.-Dec.-2017/(Sociology)/(B)
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93. How many types of correlation methods are there ?

(1) 3 ) 2
(3) 4 4) 5
e R & fer e 2 7

(1) 3 2 2
(3 4 45

94. Which is/are the quality/qualities of a good observation ?
(1) Social-psychological knowledge  (2) Indepth knowledge

(3) (1) & (2) both (4) None of these
F wed wiew @) woraen w0 € ?
(1) wrfm-dsnfys s (2) e §
(3) (1) 3R (2) A 4) ¥ & P A
95. According to whom, ‘The value of the variable which occurs most frequently in a
distribution is called the mode” ?
(1) Kenny & Keeping (2) Boddington
(3) Bowley (4) Elhans
forws apew o 3% o wv woide o) s & 99 ages wed €
(1) @ siw #iftr (2) Wrdries
(3) W (4) T
96. How many types of methods of calculation of dispersion are there ?
(m 4 2) 3
(3 2 @5
frwwo #1 o @ fRafE @ e v £
m 4 (2 3
(3) 2 4) 5

97. “The median is a positional value which is influenced by the number rather than the
size of the extreme variations." Who has given this definition ?

(1) A.M.Tuttle {2) Connor

(3) (1) & (2) bath (4) W. A. Neiswanger

“Hitgs vw R a9 § o Read @ aer @) a9 Wen ¥ e wofae &6 8 as
aftsmr fra @ 2

(1) % o Z2H (2) IrR

(3) (1) 3= (2) =t (4) =tgo o Hudm

M. Phil/Ph. D/URS-EE-Jan.-Dec.-2017/(Sociology)/(B) P.T.0.
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98. Who is the father of Criminology ?

(1) E. H.Sutherland (2) Lombroso
(3) Topinard (4) Waiter Rackles
‘YN T B S B B 7
(1) %o THo wWawAvE (2) wrra
(3) enf=rd (4) areey @
99. Who said that, ‘Criminals are Born' ?
(1) Sutherland (2) Lombroso
(3) Bentham (4) Ram Ahuja
R s s w=omr B £ 7
(1) wevavs (2) et
(3) T (4) ™ sigar
100. Borstal schools are meant for the reformation of :
(1) Juvenile delinquents (2) Women offenders
(3) Convicts (4) None of these
s e P B e Eg B
(1) fveie sgeeh (2) wigsr spams
(3) 3gend (womanw) (4) =% & ®1g 8

M. Phil/Ph. D/URS-EE-Jan.-Dec.-2017/(Sociology)/(B)
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1. Who said that mode of production determines culture ?

(1) Aristotle (2) Karl Marx

(3) Sorokin (4) Maclver & Page
T vm 5 T ufdar Sl w P e & 7

(1) 3wy (2) @1 wred

(3) WA (4) #FPEava e

2. Sociologically ‘culture’ denotes :
(1) Refinement in a person
(2) Growth of micro-organism in a laboratory
(3) Learned behaviour of man
(4) Cultivation of aesthetics
T gt | wely waiia s b

(1) =1 ¥ gar (2) warren 3§ s Nt @ Rew
(3) =f¥ w1 ¥ gan R (4) dredam w1 v
3. Among the following, culture complex is represented by :
(1) Vegetarianism (2) Caste-system
(3) Wearing of sacred thread (4) Touching the feet of elders
=1 % 3 vee e wngfts afeear weitte o 2 2
(1) wmeEraE | (2) ofwer 9
(3) ufas grm e | @) WaRgy
4. Who said that Sociology and Anthropology are "Twin Sisters’ ?
(1) A.L. Kroeber (2) Karl Marx
(3) E. Durkheim (4) None of the above
e wer @ wronrer i W W 98 & 2
(1) To Udo WA (2) = wad
(3) $o gdim (4) 7§ :d a8
5. Animal society differs from human society in terms of :
(1) Organization (2) Discipline
(3) Value-orientation (4) Division of labour
e e, Prefai an # oy wEe @ geT #
(1) wres (2) sryarE
(3) w&=n e (4) =7 o
8. The term ‘Sociology’ was coined by Auguste Comte in the year :
(1) 1830 (2) 1833
(3) 1836 (4) 1839

M. Phil/Ph. D/URS-EE-Jan.-Dec.-2017/(Sociology)/(C)
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(1) 1830 % (2) 1833 %
(3) 1836 # (4) 1839 %

7. Who called sociology as social physics ?
(1) Maclver (2) Comte
(3) Durkheim (4) Bogardus
waETE @ e wmtoe Aty wm ?
(1) AwER (2) wn2
(3) g&E (4) Wy

8. The word Sociology’ is derived from the Latin word :
(1) Societo (2) Socio
(3) Societus (4) Socius
e e @ e e § W W w1 e g 7
(1) HraEa (2) =i
(3) HEeH (4) Wfraw

9. Who was the propounder of the formalistic school of Sociology ?
(1) Durkheim (2) Hobhouse
(3) Sorokin (4) Simmel
e & svmieaadt w5 &1 9@ 39 a1 ?
(1) F@m (2) wEy
(3) HRIfET 4) s

10. ‘Society is a web of social relationships,” who said this ?
(1) Ginsberg (2) Cooley
(3) Giddens (4) Maclver
T, aEfeE Wl B e 8, a8 e s ?
(1) Pt 2) ==
(3) frE= (4) HoER
11.  The concept of ‘Simulation’ has been given by :

(1) Baudrillard (2) Horkhiemer
(3) Adorno (4) Lyotard
wor @ g s
(1) I=gEiz (2) FTdmR
(3) w=rh (4) wmrerd

M. Phil/Ph. D/URS-EE-Jan.-Dec.-2017/(Sociology)/(C)



C
12,

13.

14,

15.

16.

17.

Who was compared modernity with a ‘juggernaut’ ?

(1) D.Harvey (2) Thomson
(3) A.Giddins (4) V.Seidler
e smgfaa # gom e § @ e

(1) So =4t (2) oWy

(3) wo ffew (4) 1o FrEeR
'Post modern Society is a risk society.’ Who has said this ?
(1) Anthony Giddins (2) David Marsh
(3) Robert-Dahl (4) Marx

IR INRE WA shfas ww e @ R w7

(1) et ffgs (2) 3fas wd
(3) Vv I (4) wrad

Which theoretical orientation rejects cause and effect co-relationship as explanatory 10
human behaviour ?

(1) Post-modern (2) Conflict

(3) Critical (4) Phenomenology
FRU-WHIE HEWEET @) H198 AaER &) @RI A A e arenl dafte wew &
(1) so s (2) v

(3) i (4) Tea-fra Aem
Who does not accept ‘meta narratives' ?

(1) Lyotard (2) Baudrillard

(3) Both(1)&(2) (4) Adorno

FEy FEs @ @i d AT 8 7

(1) forterd 2) IFHa

(3) (1) 3= (2) 2 (4) vt
Globalization has developed :

(1) International trade
(2) Transnational corporations
(3) Global communication network

(4) All of these

pesegErY A At 5

(1) sFaosia @mN (2) T s
(3) ¥¥aw wwn o= (4) T § =
Main responsibility in a Kibbutz System is :

(1) Child care (2) Parental care
(3) Old age care (4) Women care

M. Phil/Ph. D/URS-EE-Jan.-Dec.-2017/(Sociology)/(C) P.T.O.



Rracor agwn ¥ 7= afaw &
(1) wiges Fa (2) Svea B
(3) see T BUR (4) T v
18. Alexanderisa:
(1) Conflict theorist (2) Neo-functionalist
(3) Etheno methodologist (4) Post modernist
FTIey 8§ -
(1) wad Rerard (2) Proh-warfae
(3) Torm HuSiEife (4) R Imgfrmomard
19. The book, "The theory of Communicative Action,” has been written by :
(1) Jurgen Habermas (2) Theodor Adorno
(3) Alfred Schutz (4) None of these .
T 2 oifte FRpfaee vaT e g foed T
(1) wits gawmw (2) frarEr gEEt
(3) w=pE g9 (4) ¥ ¥ o 78
20. Durkheim in his study of suicide has used .......... method :
(1) Comparative (2) Historical
(3) Case study (4) Participant observation
it aretEen & s A L, fafer @ sy fm &
(1) T&rsw (2) et
(3) =f snaus (4) wrirer wasy
21. Economic growth is characterized by :
(1) Modern technology

(2) Traditional technology
(3) Andent technology

(4) Capitalism, trade and use of modern technology
anfdis gnfy guld anh & -

(1) smfe e A}

2) wruftE vefe 4

(3) wds g R

4) fohare, o aiv P aods @ gam @

22. 'Our common future’ is related with :
(1) Human development (2) Economic development
(3) Sustainable development (4) Regional development
M. Phil/Ph. D/URS-EE-Jan.-Dec.-2017/(Sociology)/(C)
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waw s wider wafm @

(1) wry fawmm @ ; (2) anfés R A
(3) woo Rem | (4) & R @
Who wrote the book, “Social Development” ?

(1) L.T. Hobhouse (2) Kingsley Davis
(3) Maclver & Page (4) None of these
wes Faeute” e yEe e fad ?

(1) e o PREEE (2) frvas e

(3) Aarger U9 AW (@) % F o
The debate on sustainable development started with the :

(1) Environmental concern (2) Capital production
(3) Human capability (4) None of these
waw e 9 TEw wwe g @

(1) gatee ) a5 (2) ot IomeT 1 dw
(3) wrdra weEEn 9 A 4) 379 A org f

According to whom, concept of sustainable development was the result of a dynamic
gestation ?

(1) Sevilia-Guzman (2) Graham Woodgate
(3) Both (1) & (2) (4) None of these

e srraR T e w1 g 9fa Re s @ oRorm ar ?
(1) dftaram= (2) wen e

3 (1) 3 (2) = (4) &9 F T

Who among the following is not a supporter of the theory of underdevelopment ?
(1) A.G Frank (2) Gunnar Myrdal

(3) Immanuel Wallerstein (4) L. T.Hobhouse
fyafatas § 4 o ssfRew fara & gwis 78 2 7

(1) Yo e B& () =R ffE=

(3) e areRedH (4) To o FHAETSH
Who has given the term, ‘Development of underdevelopment’ ?
(1) Max Weber (2) Karl Marx

(3) A.G.Frank (4) A.R. Desai

2geTie ofe revdaaTie o e Rar ?

(1) #wr ¥ (2) w1t wraed

{3) o o B (4) To SN0 BwTE
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28. Who is the author of the book, ‘India’s Path of Development’ ?

(1) K.L.Sharma (2) S.L.Sharma
(3) Yogendra Singh (4) A.R. Desai
TREar o e Igegie T e @ das o 8 2
(1) ®o Teo i (2) ©#Ho Telo ¥Wi
(3) I fie (@) o R0 FaTE
29. What is the sex ratio of India according to the 2011 census ?
(1) 945 (2) 940
(3) 951 4) 947
a4 2011 @ ST B SER ARE o R @
(1) 945 (2) 940
(3) 951 (4) 947
30. Which state in India has the largest population according to 2011 census ?
(1) Rajasthan (2) Bihar
(3) Goa (4) Uttar Pradesh
T 2011 F T B IFHR WRA & b wow B o Tatim & 2
(1) o (2) faerm
(3) (4) SR =9
31. Capitalism signifies :
(1) Large Scale production v (2) Economic equality
(3) Economic progress (4) Economic cooperation
uftare & s 2 -
(1) 98 ¥R @1 I (2) wf¥E G
(3) anfdfw =iy (4) anf® weam
32. Find out the square root of the value V1024 is:
(1) 321 (2) 244
(3) 340 (4) None of these
V1023 w1 aitea &
(1) 32.1 (2) 244
(3) 340 (4) ¥ 9 a8 58
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33. How many types of correlation methods are there ?

(1 3 ) 2
(3) 4 4) 5
wewaw fafey & e yew & 7

(1) 3 2 2
(3) 4 4) 5

34. Which is/are the quality/qualities of a good observation ?
(1) Social-psychological knowledge  (2) Indepth knowledge

(3) (1) & (2) both (4) None of these
s e whee @ e o # ?
(1) amfrssitate s (2) e |
(3) () s 2) = @) 79 3§ o2 78
35. According to whom, "The value of the variable which occurs most frequently in a
distribution is called the mode™ ?
(1) Kenny & Keeping (2) Boddington
(3) Bowley (4) Elhans
s srrar e F o = waifs ar arm @ X wee gea &8 7
(1) & i Afd (@) adea
(3) deh (4) s=¥w
36. How many types of methods of calculation of dispersion are there ?
(1) 4 (2) 3
3) 2 (4) 5
R @ o & Rl & e g €
(1) 4 (2) 3
3 2 4) 5

37. "The median is a positional value which is influenced by the number rather than the
size of the extreme variations,” Who has given this definition 7

(1) A. M. Tuttle (2) Connor

(3) (1) & (2) both (4) W. A. Neiswanger

e v ey a8 o el @ Jer A o 9@ | ome wWiidd g 8 U8
ot g & ?

(1) Yo UHe TE@ (2) T

3) (1) 3w (2) S (4) S0 to ad
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38. Who is the father of Criminology ?
(1) E.H. Sutherland
(3) Topinard
SR A B TS DA B 2
(1) ¥o THo waRATE
(3) orftm2

39. Who said that, 'Criminals are Born' ?

(1) Sutherland

(3) Bentham

e B8 “sroed ST B £ 7
(1) Wewavs

(3) e

(2) Lombroso
(4) Walter Rackles

(2) s
(4) TTeex Wed

(2) Lombroso
(4) Ram Ahuja

(2) sm
(4) w sgEn

40. Borstal schools are meant for the reformation of :

(1) Juvenile delinquents

(3) Convicts
ﬂéawﬁwak'gm%ga:
(1) ey soemd

(3) et (wromar)

41. Gender role refer to :

(2) Women offenders

(4) None of these

(2) wfesm smend
(4) 39 & = 8

(1) The subordination of women based on the assumption of superiority of man
(2) The rights, responsibilities, expectations and relations of men and women

(3) Sexual division of men & women

(4) None of the above
At e & awed #

(1) 9o9 S@a # Wanon & smr oy AR @ s
(2) w-qou & IWER, Dfm, sdend AR e

(3) ¥H-gen @ v A A
(4) T A A HE T8

42. Social mobility refers to :
(1) Geographical movement
(3) International movement
arnfas afrftear & med &
(1) nfes afefres
(3) siha nfaddhea

(2) Family movement
(4) Social strata movement

(2) sfaf¥s nfrdhear
(4) wnrfore w o afaven
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43. Which among the following is not a cause of social mobility ?

47.

(1) Caste (2) Class

(3) Development {4) Education
Frafefee 3% 3 a9 awifoe afaden =1 oo 787 & 2
(1) =i @) =i

(3) Rem (4) R

Which of the following statement is not correct with reference to social structure ?
Social structure is :

(1) A concrete phenomenon

(2) An abstract and tangible concept

(3) Neither abstract nor a concrete phenomenon

(4) Abstract as well as intangible

wHfHE wwa @ et & Prafale § 9§ dmea ve w0 T R ? wenhe s &
(1) W& ¥z waes - (2 = I siv g fare

@ T@ad g @) s ok sgw ot @

The function in a social structure has been classified by Johnson as :

(1) Manifest and latent (2) Objective and subjective
(3) Involved and relative {4) Dormant and latent
THET G, U qREiee WeE A Sea @1 et fear vy &

(1) =& afe apgd (2) e ok fRwafe
(3) wwea @ A @) Bfisg i o

Which of the following is mot an essential characteristics of status in modern society ?
(1) The extent to which an individual distributes rewards

(2) Influence enjoyed in administration

(3) The hereditary position of highly placed ancestors

(4) The wealth accumulated by en

e wra 4 ufafy o Prafafes § | o ofard o @ e 2
(1) @& @ Rt ve of¥, grwen RaRa s 8

(2) wemEs | wa

(3) w=meEwe gEOl A AR Rafy

(4) wufar g1 it oY

What does ‘achieved status’ signify ?

(1) Status achieved through cultural diffusion

(2) Status achieved through personality development

(3) Status acquired through competitive talent

(4) All of these

M. Phil/Ph. D/URS-EE-Jan.-Dec.-2017/(Sociology)/(C) P.T.O.



e Wew #u gee oy & ?

(1) aRpis o6 & " § wou vdna
(2) 2fd Raw & e | Reg vie

(3) it wfoen @ s | R vhes
(4) I9E Wt

48. An achieved status is ;
(1) Shared by caste-oriented people  (2) Inherited from parents
(3) Derived from abilities and skills  (4) Depends upon biological condition
sk pfafy &
(1) wfafea s gre & 7
(2) o | g 2B
(3) g v Fea § ura @ R
(4) e el w felk ol &

49. Role conflict in society emerge out of the fact that :
(1) Performers do not know the nature of role expectations
(2) There is lack of balance in the system of the role performed
(3) They do not observe the desired standard
(4) They do not get adequate award for the role performed
T A e wod @1 o B aen g 2
(1) P Pde w35 a1, sFeres 6 s § suRfE a8
2) fw-Frafe 2w § wgaa o1 s g @
(3) R T B IS TR B Ty
@) Fe-Pate = 3 R ® o

50. Which among the following does mot indicate status ?

(1) Bharat Ratna (2) Laborer

(3) The Title of knighthood (4) Use of the prefix Pandit’

P & @ a sRufy W @ ao @

(1) swa o1 (2) =fas

(3) EcEs & sy@ (4) ™ @ oW e wE @y
51. Socializationisapmoessof:

(1) Role taking (2) Status defining

(3) Both (1) and (2) (4) None of these

wmrfe e g &

(1) e geo s o (2) wRufay ofenfes e o

(3) (W3t (2) F+=1 M (4) ¥ | @
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52

53.

57.

Anticipatory, socialization is related with :

(1) Status (2) Role playing
(3) Role taking (4) None of these
st wraw w e

(1) =wfufy | (2) wfver fdes |
@) T wEn & | (4) &7 3 o
Adult socialization is the process which starts from the age :
(1) 12 year (2) 14 year

(3) 18 year (4) 10 year

TURS e @ ufda e 9 | awes ah @ 2

(1) 12ud 2) 147t

(3) 18 =d (4) 10 a4

Who has given the concept of looking glass self’ 7

(1) Mead (2) Coaley

(3) Blumer (4) None of these
it e dew A s e @ ?

(1) =3 2 =TH3A

(3) =pr 3 (4) ¥ & T 4
Who has given the theory of collective representation ?

(1) Spencer (2) Mead g
(3) Durkheim (4) None of these
e Wit ® g e R ?

(1) W= 3 (2) #re

(3) 39t 3 (4) v & = a8
The term 'Ethno Centrism’ has been given by :

(1) H.Spencer (2) W.G.Sumner
(3) G.S. Ghurye (4) Marx

el Wpwr of Rar

(1) T¥e #ER FW (2) s==p WMo WeR FRI
(3) e wwo gd g1 (4) v g

Which one of the following does mot apply to social class system ?
(1) Class systems are relatively fluid

(2) Class position is entirely subjective

(3) Class has economic base

(3) Class positions are, in part, achieved

M. Phil/Ph. D/URS-EE-Jan.-Dec.-2017/(Sociology)/(C)

1

P.T.O.



maammmmmwmmmmmzv
(1) = vEwnd wrfee 2o @

(2) = Rafy goie Rwafee §

(3) @t & nfiie s S &

(4) = Rafy a4 ara ot o 2

58. Who has written the book ‘Interogating Caste' ?

(1) Dipankar Gupta (2) K.L.Sharma
(3) M. N. Srinivas (#) A.R.Desai
FErfen wre v e e fad & 7
(1) #wiwy e (2) o vEo T
(3) W0 TR0 faEra (4) Yo o Fuid
59. A hierarchical system in which cultural, political and economic systems are
dominated by male is knownas: :
(1) Patriarchy (2) Elite model

(3) Gender based division of labour (4) Pluralistic model
nmmwm.mammwmmmma

ELGR N
(1) Reywemems wawr c (2) o amwn
(3) fEmenfa swfsmom (4) wEware) amen
60. Acmrdh\gmﬂ:etextthetermmﬁtmyandfanﬁnityaremostdwdylmkedto:
(1) Succession (2) Patriarchy
(3) Gender (4) Sex -
gt ¥ sfeefa v qove Al T, waiRe e wag 2 7
(1) soufmRr (2) Pgwen
(3) fam (4) worm

61. Which is not a social role ?
(1) A worker on the field
(2) A person committing a dacoity
(3) A policeman pursuing a dacoit
(4) A teacher in a class
awife e T8 &
(1) &5 % & & aran
(2) BN & aren Afam
(3 wmmmmmm
4) = 9§ fws
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62. Which is a primary group ?

(1) Palitical group (2) Factory
(3) School (4) Family
e 3 3 oufre e #
(1) wrifes W @) wh
(3) =@ (4) wfar
63. 'We feeling' is a characteristics of a :
(1) Racial group (2) Primary group
(3) Nationality group (4) Inherited group
B W] (EEE 0% o R
(1) wrfz g @1 (2) sufs e 5
(3) wsfraar & wqE w1 (4) 3Ria wgE @1

64. Primary group is important for individual for it :
(1) has spontaneous living together
(2) Provides stimulus to different members
(3) Its members are a part of the same _
(4) They need not have a unity in the performance of their function
s aftn & fon oefie w S & it Tz -
(1) vwwm vE & @ o= Jan &
(2) fafv= walt &1 9T wvar @
(3) s59 wew, &= F o g
(4) wwl & It & €9 A gwewn A aavae T8 a6 &

65. Identity is a quasi-group of the following :

(1) Crowd (2) Mob
(3) Trade union (4) State
ugar, B 4 @ ge o e 8
(1) %= - () wofm As
(3) @R w8 (4) =
66. 'Exogamy’is:
(1) Anexperimental marriage (2) Marriage within the same gotra
(3) Marriage outside the group (4) Marriage within prohibited degrees
fromeity faae &
(1) gavmers s 2) wne A= § e
(3) e & T faam (4) Pftg f&h 7 faan

M. Phil/Ph. D/URS-EE-Jan.-Dec.-2017/(Sociology)/(C) P.T.O.
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67. The form of marriage under which girl is given in marriage to a bridegroom with
clothes and ornaments is called :

(1) Brahma (2) Asura

(3) Pishacha {(4) Rakshasa

fiare @1 38 W Rl @ B T, B9t A T @ e W o 2 2
(1) w1 faaE (2) R faae

(3) Rwe fEE (4) vw &9E

58. A nomenclature of the family function is symbolic of :
(1) System of reckoning descent
(2) Family succession
(3) Greatness of the family
(4) System of keeping names of the members of the family

nRaftE @ § amewr § dea Maa ¢
(1) sraEnfa $ vEn agwn (2) mﬂmﬁamﬁ&-ﬁ_
(3) wfaR A FerE (4) “Rar @ T W1 P T@

89. Religion originated :
(1) Out of fear sense
(2) Inresponse to the felt needs
{3) In response to the authority of the power with the good of community at least
and protection
(4) None of these

a5 @ = e & -
(1) ¥a & HRo
(2) sTE FEwEEet # s §
(3) FISH B W T N B Hw F W@ U A0 G ORGSR A 3w A
(4) TodEr # | B T
70. Which of the following is a belief system ?

(1) Magic (2) Felishism
(3) Totemism (4) All of these
frafatn § ot s agwn @

(1) =g 2) ol
3) e 4) 2 i

M. Phil/Ph. D/URS-EE-Jan.-Dec.-2017/(Sociology)/(C)



74,

76.

- Theory of absolute population and relative population are associated with :

15

(1) Malthus & Kingsley Davis (2) K. Davis & Moore

(3) Malthus & K. Marx (4) Malthus & Thompson

W S SR e s @ e ger @

(1) wrews 3w eRw (2) @o 2w T ]

(3) wreers @ @o Hiw (4) wows 3 wiaws

According to the 2011 census, which state of India is the most populous ?
(1) Andhra Pradesh (2) Uttar Pradesh

(3) Goa (4) Tamil Nadu

2011 ® ST B AR NG 5w e @ s e 87

(1) smg w2y (2) Sw% wSw

(3) wrar (4) afyeg

Which of the following states/union, territory has the lowest sex ratio in India ?
(1) Kerala {2) Puducherry

(3) Delhi (4) Haryana

Frafefm # & R wom /9wt oo a1 R g & 7

(1) @= 2) g%

(3) fa=h (4) =Ramn

A person aged 7 years and above who can read or write with an understanding in
any language is treated as :

(1) Hliterate (2) Literate

(3} Educated (4) Uneducated
;::gmmaﬁimfaa:ﬂMtﬁm#m!m.m%m. R 8 99
(1) P (2) wwEr

(3) fofdm (4) sif¥idma

Which of the following factor(s) is /are responsible for soil degradation ?
(1) Chemical fertilizers (2) Landslides

(3) Floods (4) All of these

w1 Preftaer & faw B § @ w4 ors sow @

(1) Iufas Siw (2) e

(@) Tz (4) Todam v

"The Pollution Standard Index" (PSI) scale ranges from :

(1) 0-200 (2) 0-300

(3) 0-400 (4) 0-500

M. Phil/Ph. D/URS-EE-Jan.-Dec.-2017/(Sociology)/(C)
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81.

‘SR A guate (PSI) Rwnfa 8

(1) 0-200
(3) 0-400

2) 0-300
(4) 0-500

Which among the following is an air pollutant 7

(1) Nitrogen
(3) Carbon monoxide

Frfaften 3 @ #f o vgma & 7

(1) TEFoA
(3) W wERiEEe

Ozone if found in atmosphere in :

(1) Mesosphere
(3) Stratosphere

agEvES | o 9 W #

(1) wEgvea 3
(3) THETTHISE A

(2) Carbon dioxide
(4) Oxygen

(2) T SETEEES
(4) o

(2) lonosphere
(4) Exosphere

(2) smrmvEa §
(4) aftdves 4

(2) Normiessness
(4) Normal

(2) =ihiEeEw
(4) wwrg

The book, "Street Corner Sodiety” is related with :

(1) Slum studies
(3) Administration

waE e B Sed weihd ®
(1) Ao o smaa §

(3) womes &

(2) Policy orientation
(4) Reformation

@) A sfge @
(4)'§!3N'3

The standards which regulate behaviour have been termed as :

(1) Social norms
(3} Social behaviour

(2) Soaal values
(4) Socal attitudes

aqer @ i 59 od ams B wed £

(1) arfes wers
(3) wrfore ewer

(2) wrufors e
(4) wrnfre gl
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82. Failure to conform to the customery norms of society is called :

(1) Deviant behaviour (2) Operative behaviour
(3) Mlegitimate behaviour (4) Non-cooperative behaviour
T @ GIITE A B G B d gt o 8
(1) frafea aeer (2) WAFIRS PEER
(3) wrren amER (4) sveurft aEER
83. Deviant behaviour generally threatens :
(1) Social culture (2) Social heritage
(3) Social mobility (4) Social stablility
frafe ammer & armeae wafd e 8
(1) srnfore wepl (2) wmNfNE avEe
(3) amfse nfirfam (4) Srfore wenfhe
84. Which one of the following is mot a necessary characteristics of the community ?
(1) Geographical location (2) Community sentiment
(3) Stable government {4) Social homogeneity
frefafer 4 & o wgem & sfad seor 78 @ 7
(1) “ifees smfeafy (2) wrpfaE s
(3) ami |enR (4) wnfore wsew
85. A particular name is the essential element of society :
(1) Society (2) Community
(3) Association (4) Institution
wa favm 1w, T &1 SevEe o § -
(1) w& (2) wgem
(3) s (4) Hw
86. Who has given the concepts of gemeinschaft and gesselschaft ?
(1) Robert Redfield (2) Emile Durkheim
(3) Ferdinand Tonnies (4) Auguste Comte
Wity v afremee @ g e B ?
(1) ¥ raviee 2) FwEe gt
(3) widrs ifm (3) e BREE
87. Family, church, trade union, music club are all examples of :
(1) Institution (2) Association
(3) Community (4) Society
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(1) ¥y & 2 s 3
(3) W & (4) = B
88. Which of the following is an economic institution ?
(1) Property (2) Bank
(3) Credit (4) All of these
&= 7 9 o9 anfds e & ?
(1) Hfy 2 =
(3) =1 (4) 7 | ¥R
89. "An institution consists of a concept (idea, notion, doctrine) and structure”, who has
given this definition ?
(1) Bogardus (2) Sumner
(3) Green (4) Young
e wer 5w, # uw sanen (R, wdite, fgre) s w2 7
(1) Ty (2) =R
(3) #= (4) =
90. Which among the following is an association ?
(1) Labour Union (2) State
(3) Cricket Club (4) All of these
FEagam-mau g ? '
(1) #% &9 (2) vr=m
(3) f¥de 7om (4) 7% & Wi
91. CBR stands for:
(1) Crude Birth Reproduction (2) Crude Birth Rate
(3) Crude Birth Ratio (4) Crude Birth Region
CBR @7 3 & :
(1) == 39 fween (2) s wf ¥
(3) m= ¥ Wy (4) = % o
92, Who is the father of Demography ?
(1) John Grant (2) Guillard
(3) Hauser & Duncan (4) Cox
WS BT TS B8 7
(1) <7 wre (2) frems
(3) BroWR Y FFA (4) Praw
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93. Which among the following is not included in the National Population Policy 2000 ?
(1) Importing free and compulsory education above 14 years of age
(2) Reducing infant mortality rate
(3) Achieving universal immunization of children against all vaccine preventable
diseases
(4) Making family welfare, a people-centred programms.
Frafafas 3 9 oefra aerden iy 2000 % @ s @ 2 ?
(1) 14 9% ¥ IR & wh «fF A g @ sfad e
(2) g 50 == ®) 39 BN
(3) ¥m @ 99w wHA T R A qeat d Wby oiReew @ Fen ww

e
(4) R wew B wE-afaa SEEE T
94. Genderisa:
(1) Biological Concept (2) Social Construct
(3) Both (1) & (2) {4) None of these
forr & -
(1) SR smamon (2) wrnfere ARES
(3) (1) 3w (2) ==t (4) T 3 | ¢ T8
95. Fecundity refers to:
(1) Actual production (2) Biological capacity
(3) Living offspring (4) No. of children
wgworT & e @
(1) arofd® g (2) S e
(3) forfdr st (4) wegt & wEm
96. Who has given the concept of 'typification’ ?
(1) Max Weber (2) Cicourel
(3) Alfred Schutz (4) Husserl
egdifede @ amuron fFas g £ o 7
(1) #ag da8 (2) frerE
(3) sehs I (4) wwe

97. Neo-Marxism does not believe in the :
(1) The inevitability of the ‘Prolitariat Revolution’
(2) A classless and stateless society
(3) Both (1) & (2)
(4) None of these

M. Phil/Ph. D/URS-EE-Jan.-Dec.-2017/(Sociology)/(C) P.T.0.



AT Rwrs 98 san

(1) wferefve R o yfarda
(2) Tié= g woud= | A

(3) (1) 3R ) 1 A
(@) i 3 o 7
98. Which among the following is mot a levels of society ?
(1) Economic Formation (2) Political Level
(3) Ideological Level (4) Cultural Level
Prifafers & & o wie &1 @ 7 &7
(1) snfidfe foior (2) worifrs ww
(3) duie ww \ (4) FPpRE R
99. According to Habermas, critical theory can be located between :
(1) Philosophy and Science (2) Science and Social Science

(3) Philosophy and Social Science (4) None of these

BT @ AR WeeAeT fear ) v o we
(1) =eoes ok fasm & we 2) s 3 wenfors Rem @ o
(3) TereR iR ety e @ ma (4) T @ I a8

100. Habermas disagrees with Marx on Several Grounds, which among the following
statements shows his agreement with Marx :
(1) Capitalist society is to collapse as a result of class conflicts
(2) Stateisa part of the superstructure
(3) Rich becoming richer and poor poorer
(4) Search for non-capitalist ways of social organization
g R aaRt ov ae At @ o & Preefafe @ abea we o A
| wewa T & ?
(1) @iead @ sror Joferd e s g
(2) ¥ron, waea Tva W Uw ST R
(3) 3R 3R+ apiv won i IR o e @ @ 2
(4) wfe w1e & g R-goferd! ot & @
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question booklet.

5. There will be no negative marking. Each correct answer will be awarded one full mark.
Cutting, erasing, overwriting and more than one answer in OMR Answer-Sheet will be
treated as incorrect answer.

6. Use only Black or Blue Ball Point Pen of good quality in the OMR Answer-Sheet.

7. Before answering the questions, the candidates should ensure that they have been supphed
correct and complete booklet. Complaints, if any, regarding misprinting etc. will not be
enteriained 30 minutes after starting of the examination.
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1. Economic growth is characterized by :

(1) Modern technology

(2) Traditional t

(3) Ancient technology

(4) Capitalism, trade and use of modern technology

s gy guih emh 2

(1) swyfs ode 9

(2) unale® wade |

(3) wrdr Tt @

() Tharz. amr v sfe aeds & wam @

'‘Our common future’ is related with :

(1) Human development (2) Economic development
(3) Sustainable development (4) Regional development
T AR vl e f -
(1) =r7a fawm (2) anfdie fawra &
(3) st Rwre | (@) @ fFaw |
Who wrote the book, "Social Development" :
(1) L.T. Hobhouse (2) Kingsley Davis
(3) Maclver & Page (4) None of these
e IrEwieT e gEe R e ?
(1) t&o &o FEsrawy (2) P¥we 3faw
(3) #amgw w3 dw (4) & & = 8
The debate on sustainable development started with the ;
(1) Environmental concern (2) Capital production
(3) Human capability (4) None of these
wow fawr g awe wew gd o -
(1) wufawe @ Fae (2) o0 Iwmes &) dan
(3) F=dE T B A5 (@) 79 | 3§ 58

- According to whom, concept of sustainable development was the result of a dynamic
gestation ?
(1) Sevilla-Guzman (2) Graham Woodgate
(3) Both (1) & (2) (4) None of these
fwd srpuR woa Rere o Rigra 7Ry R ofsar 1 g o ?
(1) dfe-some (2) wER gsie
(3) (1) 3fe (2) et (4) =79 3 B
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6. Who among the following is not a supporter of the theory of underdevelopment ?

(1) A.G.Frank (2) Gunnar Myrdal
(3) Immanuel Wallerstein (4) L.T.Hobhouse
Pttt 3 9 ots seofem Rgra & wads 78 8 7
(1) o o @) T s
(3) sha g (4) o fto FaETIH

7. Who has given the term, Development of underdevelopment' ?
(1) Max Weber (2) Karl Marx
(3) A.G.Frank (4) A.R Desai
Fgapie site srevdaawie o fem Rar ?
(1) #a W9 (2) wre
(3) o oo Fw (4) o 3R Fww

8. Who is the author of the book, 'India’s Path of Development' ?
(1) K. L.Sharma (2) S.L.Sharma
(3) Yogendra Singh (4) A.R. Desai
gieEara g MfE FETHE IS TR @ dus o # 7
(1) Po T (2) W0 Yeo wl
(3) art= fhe (4) Yo 3o FWE

9. What is the sex ratio of India according to the 2011 census ?
(1) 945 (2) 940
(3) 951 (4) 947
ad 2011 @ ST & R AR A R 2
(1) 945 (2) 940
(3) 951 (4) 947

10. Which state in India has the largest population according to 2011 census ?
(1) Rajasthan (2) Bihar
(3) Goa (4) Uttar Pradesh
w2011 N TEEOA B FFER g @ e e @ eeeen w8 7
(1) o 2) REr
(3) (4) IR wEY
11. Capitalism signifies :

(1) Large Scale production (2) Economic equality
(3) Economic progress (4) Economic cooperation
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gofrarg & sfwma 2 ¢

(1) 78 "W &1 Ioas (2) anfds wsmmen

(3) anféfe s=fy (4) s weam
12 Find out the square root of the value Y1024 is -

(1) 32.1 (2) 244

(3) 340 (4) None of these

J1024 anmhxa 8=

(1) 321 () 244

(3) 340 (4) =7 A 2 =8
13. How many types of correlation methods are there ?

() 3 (2) 2

3) 4 (4) 5

e Ay @ i wem 8 2

(1) 3 (2) 2

(3) 4 4) 5

14. Which is/are the quality /qualities of a good observation ?
(1) Social-psychological knowledge  (2) Indepth knowledge

(3) (1) & (2) both (4) None of these
UH S HaEv A U wy # 7

(1) smnfre-witafe o (2) T8 T

(3) (1) afv (2) @t (4) &0 | o 78

15.  According to whom, “The value of the variable which occurs most frequently in a
distribution is called the mode" ?

(1) Kenny & Keeping (2) Boddington
(3) Bowley (4) Elhans
s e v # @ av weife TR I @ o9 agee o & 7
(1) &4 v Hfd (2) aréries
(3) dfaeh (4) =29
16. How many types of methods of calculation of dispersion are there ?
(1) 4 (2 3
(3) 2 4) 5
R @ worr & R @ et gee &
(1) 4 2 3
(3 2 4 s
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17.

18.

19.

D

"The median is a positional value which is influenced by the number rather than the
size of the extreme variations.” Who has given this definition ?

(1) A.M. Tuttle
(3) (1) & (2) both

(2) Connor
(4) W. A. Neiswanger

mitas v Rafy 7 & o Ruasl @ aer it e wem R e wifde o 27 ue

afum fRsy § 2

(1) Yo THo TEH

(3) (1) 3=z (2) &t

Who is the father of Criminology ?
(1) E.H.Sutherland

(3) Topinard

FA R B FEE D e 7

(1) %o Yao waveos

(3) @rfrFms

Who said that, ‘Criminals are Born' ?
(1) Sutherland

(3) Bentham

oo T e =T @d & 7
(1) Hawevs

(3) T=m

@) @R
(4) s&o o HEATR

(2) Lombroso
(4) Walter Rackles

2) s
(4) =R e

(2) Lombroso
(4) Ram Ahuja

(2)
(4) T s

Borstal schools are meant for the reformation of

(1) Juvenile delinquents
(3) Convicts

il e P & gum gy &
(1) e sgend

(3) srRme (wraH)
Gender role refer to :

{2) Women offenders
(4) None of these

(2) wfgen amerd
(4) % 3 3 7@

(1) The subordination of women based on the assumption of superiority of man
(2) The rights, responsibilities, expectations and relations of men and women

(3) Sexual division of men & women

(4) None of the above
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(4) Sure A ¥ *rd A
22. Social mobility refers to :

(1) Geographical movement (2) Family movement

(3) International movement (4) Social strata movement

wrfes nfedern & argd @ -

(1) e wfadfraar 2) wRafRs wfadem

(3) s nfaea (4) W wr o nfaefem
23. Whidummngﬂwfoﬂowhgismamuaeofwdalnwbmty?

(1) Caste (2) Class

(3) Development (4) Education

Frafafem # & % wfis wfvfiemr =1 oo 72 8 2

(1) wfer (2) =i

(3) R (4) fwn
24. Whichoftbefouowingmtmmtisntmedwnhtefem\cemsodalstrudum?

Social structure is :

(1) A concrete phenomenon

(2) An abstract and tangible concept

(3) Neither abstract nor a concrete phenomenon

(4) Abstract as well as intangibie
mmsm#mnmmmmmvmmma
1) W qee ) TH s fagra
zagaﬂ%maﬁwm g) Wﬁm‘i‘;ﬂa

25. The function in a social structure has been classified by Johnson as :

(1) Manifest and latent (2) Objective and subjective
(3) Involved and relative (4) Dormant and latent
ST BN U A wve 4 ewa @ adtea o g

(1) 7 s st 2) agFre sy Rwafre
(3) wfea @ wde () Pfesa s st

26. Which of the following is mot an essential characteristics of status in modern society ?
(1) The extent to which an individual distributes rewards
(2) Influence enjoyed in administration
(3) The hereditary position of highly placed ancestors
(4) The wealth accumulated by entrepreneurship
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e T ¥ wRefy w1 Pefefen 3 @ o sfvad @ 2 ?
(1) =& S ford ve aifda, qoeer Rafta o 2

(2) werEs § wHE

(3) wemyew gt & fach fafd

(4) wuf¥n g wfeg guf

27. What does ‘achieved status’ signify ?
(1) Status achieved through cultural diffusion
(2) Status achieved through personality development
(3) Status acquired through competitive talent
(4) All of these
i Wew W 9He Iea & 7
(1) wegpios T6R & A § Vew vdE
(2) =fim Rewm & 7w § wew oie
(3) shrendt ufen & wem | Rew vdle
(4) Sudtan i

28. Anachieved statusis:
(1) Shared by caste-oriented people  (2) Inherited from parents

(3) Derived from abilities and skills ~ (4) Depends upon biological condition

wfvia wfafa &

(1) wnfaefRa =9 g @ R (2) =r-fam & ura & 7d
(3) TrwEn 3R Fee | W A oad (4) it et w el awd @

29. Role conflict in society emerge out of the fact that :
(1) Performers do not know the nature of role expectations
(2) There is lack of balance in the system of the role performed
(3) They do not observe the desired standard
(4) They do not get adequate award for the role performed
wirs A yfe ded o= P o A g & -
(1) 9 Pdes s o, et 3 opia @ suifa g @
(2) fver-Frate aawen § wgew o1 s g 2
(3) T "FE @ R B B FRT
(4) sFHar-fak = sfta e & sem

30. Which among the following does not indicate status ?
(1) Bharat Ratna (2) Laborer
(3) The Title of knighthood (4) Use of the prefix Pandit’
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1 % A o iy & Al e @ 7

(1) e ¥ (2) ==

(3) “rgTgEs W IvA (4) ™ @ s ufd v @ g
31. Who said that mode of production determines culture ?

(1) Anstotle (2) Karl Marx

(3) Sorokin (4) Maclver & Page

fe ww % e o ot = Palm R @ 7

(1) IRy () w

(3) WAt (4) Awrgaw a iy

32. Sociologically 'culture’ denotes :
{1) Refinement in a person
(2} Growth of micro-organism in a laboratory
(3) Learmed behaviour of man
(4) Cultivation of aesthetics
werTE e § Cwepla weivo e @ -

(1) =ffs 7 guR (2) wEvTeTen # sfge et w1 R
(3) =fee =1 War g R (4) =i & 93
33. Among the following, culture complex is represented by :
(1) Vegetarianism (2) Caste-system
(3) Wearing of sacred thread (4) Touching the feet of elders
= 3 W fewe g wigle aitaar wiae@ 8 ?
(1) wEENEE | ) wufd-mar
(3) wfa= grm gg= @ @) B Rgr A
34. Who said that Sociology and Anthropology are Twin Sisters' ?
(1) A.L. Kroeber (2) Karl Marx
(3) E.Durkheim (4) None of the above
e v 5 W v W gea et 87
(1) Qo TaHo HITER (2) e
(3) o g (4) ¥ d 38 7
35. Animal society differs from human society in terms of :
(1) Organization (2) Discipline
(3) Value-orientation (4) Division of labour
e wara, Prefefte aw d oy v | s
(1) w7 @) sFme
(3) H&u wven (4) =m e

M. Phil/Ph. D/URS-EE-Jan.-Dec.-2017/(Sociology)/(D) P.T.O.



36. The term Sociology' was coined by Auguste Comte in the year :

41.

(1) 1830 (2) 1833

(3) 1836 (4) 1839
e IR 3 5w o wnoer we fou ?

(1) 1830% (2) 1833 %
(3) 1836 # (4) 1839 %
Whao called sociology as social physics ?

(1) Maclver (2) Comte

(3) Durkheim (4) Bogardus
RS #1 e wnnfae SRy s ?

(1) F@mga () @

(3) g@tw (4) arnds
The word ‘Sociology’ is derived from the Latin word :
(1) Societo (2) Socio

(3) Societus (4) Socius
aﬁamthwmﬁmmmmw?
(1) wwEEa (2) =it

(3) waEew (4) wf¥mrs
Who was the propounder of the formalistic school of Sociology ?
(1) Durkheim (2) Hobhouse
(3) Sorokin (4) Simmel
o & saReaardy e w1 e 3 o) ?
(1) gt (2) ewErew
(3) =R 4) e
Society is a web of social relationships,’ who said this ?
(1) Ginsberg (2) Cooley
(3) Giddens (4) Maclver
", e W o 8, a8 R w7

(1) et 2 z=

(3) frd= (4) fwmEaw
The concept of 'Simulation' has been given by :

(1) Baudrillard (2) Horkhiemer
(3) Adomo (4) Lyotard
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or w1 Rygre fvas R -

(1) aredeiid (2) FadmR
(3) v (4) wmER
42. Who was compared modernity with a juggernaut’ ?
(1) D.Harvey (2) Thomson
(3) A.Giddins (4) V. Seidler
e smafyaen @) geen s § @ @
(1) #o =t (2) i
(3) go Mf¥=n (4) o Braew
43. 'Post modern Society is a risk society.' Who has said this ?
(1) Anthony Giddins (2) David Marsh
{3) Robert-Dahl (4) Marx
R agfs o, e s e & e e ?
(1) g fnfdes (2) 2fe =t
(3) ¥ zwa g 4) ==
44. Which theoretical orientation rejects cause and effect co-relationship as explanatory to
human behaviour ?
(1) Post-modern (2) Conflict
(3) Critical 4)
“HWUL-IWE GEHEE $ W9 YER B e § s o aren dufYs wes @
(1) SR IEFs (2) werd
(3) waw @) weT-fE fasm
45. Who does not accept ‘meta narratives’ ?
(1) Lyotard (2) Baudrillard
(3) Both (1) &(2) (4) Adorno
e Wfew & B @ A 2 ?
(1) fmere @) Tadad
(3) (1) 3w (2) @t (4) wert
46. Globalization has developed :
(1) International trade (2) Transnational corporations
(3) Global communication network (4) All of these
Evedae A Retya
(1) ¥Favisiha @R (2) vy frm
(3) ¥ Huw T (4) 579 | wh

M. Phil/Ph. D/URS-EE-Jan.-Dec.-2017/(Sociology)/(D) P.T.O.
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47. Main responsibility in a Kibbutz System is ;

51.

(1) Child care (2) Parental care

(3) Old age care (4) Women care

Traew oraven ¥ qon ofte &

(1) wrges FR (2) Trea dw

(3) stes W I (4) T I
Alexanderisa:

(1) Conflict theorist (2) Neo-functionalist

(3) Etheno methodologist (4) Post modernist
IFAFASY B

(1) wud farawad (2) Fei-maemfeee

(3) v SuwEifiee (4) ST amgPraomard

The book, “The theory of Communicative Action,” has been written by :
(1) Jurgen Habermas (2) Theodor Adorno

(3) Alfred Schutz (4) None of these

T o e ey ur e geaw fad wf

(1) Wi Ewonr (2) forirEn e

() sows ol (@) = | o =8
Durkheim in his study of suicide has used .......... method :

(1) Comparative (2) Historical

(3) Case study (4) Participant observation
W J S @ ST § R & g fam @

(1) g (2) Merfes

(3) =fdy s (4) wrferst wdem

Theory of absolute population and relative population are associated with :
(1) Malthus & Kingsley Davis (2) K. Davis & Moore

(3) Malthus & K. Marx (4) Maithus & Thompson
u T iR e e w1 R g @

(1) wrouw @ fvraa 3R (2) wo AW 7 W®

(3) wrery @ Ho Al (4) srems T gFaEH
According to the 2011 census, which state of India is the most populous ?
(1) Andhra Pradesh (2) Uttar Pradesh

(3) Goa (4) Tamil Nadu
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1
MIIﬂmtmmﬂﬂmmaﬁm.mmi?

(1) @ w2w (2) SR w23y

(3) (4) afeg
WNd:ofthefoﬂowingshtes/union.herﬁloryhas!hclowestmnm)inlndia?
(1) Kerala (2) Puducherry

(3) Delhi (4) Haryana
m#QMW/mmmmet?

(1) @@ (2) g%

(3) fash (4) s

» A person aged 7 years and above who can read or write with an understanding in
any language is treated as :

(1) IMiterate (2) Literate
(3) Educated (4) Uneducated
;g:mmﬁimmwm‘hmihumum.w%m. S 2, 99
(1) ﬂmﬁ (2) amR
(3) fafda (4) =f¥ida
3 Whidtofumfouowingfacmr(s)is/mrupmsibleforsoﬂdegndaﬁon?
(1) Chemical fertilizers (2) Landslides :
(3) Floods (4) All of these
@1 Peliae & fay B 8 & o /o anee sorard &
(1) warafys e (2) e
(3) @rs (4) SwrE @
"The Pollution Standard Index" (PS!) scale ranges from :
(1) 0-200 (2) 0-300
(3) 0-400 (4) 0-500
UNSE Je gawie (PSI feaia &
(1) 0-200 (2) 0-300
{3) 0-400 (4) 0-500
v Mﬁd‘taumgthefollowmg’ is an air pollutant ?
(1) Nitrogen (2) Carbon dioxide
(3) Carbon monoxide (4) Oxygen
Pl % 9 29 arg sque & 2
(1) -mEgra (2) i sEaftavge
(3) == sirsitraEe () i
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68. Ozone if found in atmosphere in :

(1) Mesosphere (2) lonosphere
(3) Stratosphere (4) Exosphere
argRUsE # st urdf Gt @
(1) wemosa & (2) amrree i
(3) FHaTvE A (4) afves 4
59. Deviance isregarded as .......... act:
(1) Anti-social {2) Normlessness
(3) Crime {4) Normal
faae #1 .eveeeeeeeenns T S8 9N B
(1) wma (2) =iiEEs
(3) ST (4) s
60. The book, "Street Corner Society” is related with :
(1) Slum studies (2) Policy orientation
(3) Administration (4) Reformation
TE e P dreT g B
(1) e ol o § (2) Aftr afmas 3
(3) WA A (4) WUR A
61. (BR stands for :
(1) Crude Birth Reproduction (2) Crude Birth Rate
(3) Crude Birth Ratio (4) Crude Birth Region
CBR &7 3¢ &
(1) == w= dorearE (2) m= @ ¥
(3) %z udf W (4) mz wf Qo=
62. Who is the father of Demography ?
(1) John Grant (2) Guillard
(3) Hauser & Duncan (4) Cox
S @ we B & ?
(1) =i are (2) e
(3) TrEHY SN EBHA (4) @ies

63. Which among the following is ot included in the National Population Policy 2000 ?

(1) Importing free and compulsory education above 14 years of age

{2) Reducing infant mortality rate

(3) Achieving universal immunization of children against all vaccine preventable
diseases

(4) Making family welfare, a people-centred programms.
M. Phil/Ph. D/URS-EE-Jan.-Dec.-2017/(Sociology (D)



Prefafam 3 & wfg srreem A 2000 4 wn w782 ?

(1) 14 =8 & 92 & wh afew B g9 @ s fe

(@) frg 5 =% 3 @ A
(3)W#MWWWW#M#MMmmmv

&
(4) sRar sam & S=-Bf%T FEien T
64. Genderisa:
(1) Biological Concept (2) Social Construct
(3) Both (1) & (2) (4) None of these
foim & -
(1) Xfds smamn 2) wfers AEH
(3) (1) 3R (2) = @) A 5
65. Fecundity refers to :
(1) Actual production (2) Biological capacity
(3) Living offspring (4) No. of children
g W R #
(1) Tafs samEsm (2) SMam emen
(3) faffn sifefinr (4) w= & 5=
66. Who has given the concept of ‘typification’ ?
(1) Max Weber (2) Cicourel
(3) Alfred Schutz (4) Husserl
cEffhdw o suren fFwd g & o 7
(1) #awm e (2) Rrara
(3) swbe g (4) suet

67. Neo-Marxism does not believe in the :
(1) The inevitability of the ‘Prolitariat Revolution'
(2) Adasslssandstntdmssodety
(3) Both (1) & (2)
(4) None of these
Ta-sratare Rvara 98 s
(1) WiE2Rve Rerspersr @ sfaEntn
(2) T T wond o
(3) (1) s (2) &7 &
4) 9 3 3 =

M. Phil/Ph. D/URS-EE-Jan.-Dec.-2017/(Sociology)/(D) P.T.O.
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68. Which among the following is not a levels of society ?

71.

(1) Economic Formation (2) Political Level

(3) 1deological Level (4) Cultural Level

frafafs 5 | @Y w9 o1 /R TR 7

(1) =fds Hatr (2) Torifae w«r

(3) F=Rs = (4) wiphe wR
According to Habermas, critical theory can be located between

(1) Philosophy and Science (2) Science and Social Science

(3) Philosophy and Social Science (4) None of these

AT B IR AEETeTE R B e o e 8

(1) =dwes 3 faas & e (2) Rwrt g grtes e & w2
(3) wewR sk wrts e @ wa (4) 7% | o

Habermas disagrees with Marx on Several Grounds, which among the following
statements shows his agreement with Marx :

(1) Capitalist society is to collapse as a result of class conflicts

(2) State is a part of the superstructure

(3) Rich becoming richer and poor poorer

{4) Search for non-capitalist ways of social organization

Eaoa R st ) B awe @ s 8 Peaffe 4 @ @ s wd oAt
9} wEHa a8 7

(1) wivwed & wwor Tofardl Gar w@aa

(2) vou, wale wRE B U® & 8

(3) 3R 3 & sefv e wa ok o wie @ w8

(4) wrifore wmew @ forg R-Gofard wnelt o @

The standards which regulate behaviour have been termed as :

(1) Social norms (2) Social values

(3) Social behaviour (4) Social attitudes
wEER #1 Rfafe 5@ a@ T W e 2

(1) wrfoe w4 (2) st e

(3) wonfas @EER (4) wnfore gfeam
Failure to conform to the customery norms of society is called :
(1) Deviant behaviour (2) Operative behaviour
(3) Illegitimate behaviour (4) Non-cooperative behaviour
HNS B WO AAE B G B A S A w2

(1) faafem =asw (2) WA TEER
(3) FvTen wEER (4) srEdrh @aEn

M. Phil/Ph. D/URS-EE-Jan.-Dec.-2017/(Sociology)/(D)
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73.

74,

76.

M. Phil/Ph. DIURS-EE-]&n.-Dec.-ZOl?I(SodologyWD)

Deviant behaviour generally threatens :
(1) Sodal culture (2) Social heritage
(3) Social mobility (4) Social stablility
Rrafem aaer & wrmae: sl g @ -
(1) wrnform weply (2) wrifdme oves
(3) s afvsfam (4) arnftne wifae

Which one of the following is not a necessary characteristics of the community ?
(1) Geographical location (2) Community sentiment

(3) Stable government (4) Social homogeneity

Prefafea # @ s agen = sfiard s 789 8 7

(1) e saftufy (2) wrEfis s
(3) W wvar (4) s e
Apartimhrnameismeessentialdmtofsodety:

(1) Society (2) Community

(3) Association (4) Institution

@ ¥ . e s o &

(1) 5o (2) wEm

(3) 59 (4) Hwr

Who has given the concepts of gemeinschaft and gesselschaft ?
(1) Robert Redfield (2) Emile Durkheim
(3) Ferdinand Tonnies (4) Auguste Comte
e ik wftsee 1 Rrara e R 7

(1) Y@é T=des 2) $nge gl

(3) wisims Zify (4) svme @
Family, church, trade union, music club are all examples of :
(1) Institution (2) Association

(3) Community (4) Society

gRaR, . amur Wy st Wi e, T g § -

(1) ¥wn & (2) wu s

(3) @ & (4) A &

Which of the following is an economic institution ?

(1) Property (2) Bank

(3) Credit (4) All of these

P.T.O.
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= 4 9 o9 onfde wwen 8 7

(1) =y (2 %=

(3) Wrg (4) ¥ § =
79. “An institution consists of a concept (idea, notion, doctrine) and structure”, who has

given this definition ?

(1) Bogardus (2) Sumner

(3) Green (4) Young

s o 5w, § e smawn (Bar, s, ar) o a7

(1) armEs (2) @R

(3) #= 4) I
80. Which among the following is an association ?

(1) Labour Union (2) State

(3) Cricket Club (4) All of these

R ddgamaaad?

(1) =% "9 (2) =

(3) fvde Tom 4) 599§ Wl
81. Socialization is a process of :

(1) Role taking (2) Status defining

(3) Both(1)and (2) (4) None of these

AT U Wi #

(1) wf%s1 TE Fed A (2) vftfa sfmfda @ &

(3) (1) 3R (2) =1 A (4) ¥ & =1 7
82. Anticipatory, socialization is related with :

(1) Status (2) Role playing

(3) Role taking (4) None of these

Hf FETOHER BT FEE B

(1) wRafy | (2) wfEe Fden @

(3) e meor H9 | (4) T4 F orf =
83. Adult socialization is the process which starts from the age

(1) 12 year (2) 14 year

(3) 18 year (4) 10 year

TEE wrETaneYer 1 wiem e ow F ws et 8 7

(1) 1294 (2) 1494

(3) 18 =d (4) 10 =
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84. Whohasgfvmthemnceptof'lookingglassself ?

(1) Mead (2) Cooley

(3) Blumer (4) None of these

G e de @ smaren ey @ 7

(1) fe 3 2) &3

(3) wpw A (4) 3= & o 7
A Whohasgivmthetlworyofmﬂecuvempmtnﬁm?

(1) Spencer (2) Mead

(3) Durkheim (4) None of these

wrfew wftfReE @ R R R 2

(1) &= (2) Mz 3

(3) z&m 2 4) 3% | 3 58

'Iheterrn'EthnoCaurlsm'}msbwngivmby:

(1) H.Spencer (2) W.G. Sumner

(3) G.S. Ghurye (4) Marx

T AT o faay

(1) T80 T gwr (2) == o w=R Ry

(3) o vHo it gy (4) e gmr

A Whidmneofmefollowingdoesuatapply to social class system ?

(1) Class systems are relatively fluid

(2) Class position is entirely subjective

(3) Class has economic base

{4) Class positions are, in part, achieved
m#ammmmmwmwmmmn
(1) @ e wnfe za #

() =t Rafy g Rwafrs 2

(3) = 1 1w R g &

(4) T Rufer st % wre & o 2

Who has written the book ‘Interogating Caste' ?

(1) Dipankar Gupta (2) K.L.Sharma
(3) M. N. Srinivas (4) A.R. Desai
TENRE e v gew R Rl & 2

(1) i qen (2) o oo il
(3) THo Yo shifmrs ) To siro TwIE

M. Phil/Ph. D/URS-EE-Jan.-Dec.-2017/(Sociology /(D)
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89. A hierarchical system in which cuitural, political and economic systems are

dominated by male is known as :
(1) Patriarchy
(3) Gender based division of labour

(2) Elite model
(4) Pluralistic model

a8 garma e Rnet aieple, vadRe o sfifs o av gent @ edva g 2

FEd B
(1) Pgwoe e (2) fw g
(3) RrmaRe smiveE (4) TEEEQ @
90. According to the text the term masculinity and faminity are most closely linked to :
(1) Succession (2) Patriarchy
(3) Gender , (4) Sex
qrast % sftefue e geww ot 8w, weifts fras wag &7
(1) Saafsr (2) Rgem
(3) fom (4) W=

91. Which is not a social role ?
(1) A worker on the field
(3) A policeman pursuing a dacoit
wrfes gt 7@ &
(1) &5 % &t s awen
(3) & wda w1 for HEF e gew
92, Which isa primary group ?
(1) Political group
(3) School
=t & & gufie e @ -
(1) Tiitos W8
(3) ¥w&
93. 'We feeling' is a characteristics of a :
(1) Racial group
(3) Nationality group
T W R U we d
(1) wwha e

(3) wfiaa & wE o

(2) A person committing a dacoity
(4) A teacher ina class

(2) sHI BT G Awfaa
(4) w1 & foww

(2) Factory
(#) Family

(2) b=t
(4) ufar

(2) Primary group
{4) Inherited group

(2) wraffie e @
(4) st a8 ®

M. Phil/Ph. D/URS-EE-Jan.-Dec.-2017/(Sociology)/(D)



D 19

94. Primary group is important for individual forit :
(1) has spontaneous living together
(2} Provides stimulus to different members
(3) Its members are a part of the same
(4) They need not have a unity in the perfarmance of their function
s wfk &y wefie T amaws ¢ @it e
(1) vavamy 389 | WO T dal
(2) R wewl ® R s 2
(3) ¥9% wEw, g @ 3 e @
(4) wewl @ ardl @ o F yeeva B sEvawn T8 o

95. Identity is a quasi-group of the following :

(1) Crowd 2) Mob
(3) Trade union (4) State
wEaE, B 4} om a sk @
() #rs (2) =ufm 05
(3) @R |9 (4) wou
96. 'Exogamy’is:
(1) An experimental marriage (2) Marriage within the same gotra
(3) Marriage outside the group (4) Marriage within prohibited degrees
o fas 2
(1) warmes faam (2) &9m M= # faaw
(3) wue & ang Raw (4) Pfg B 3 R

97. The form of marriage under which girl is given in marriage 1o a bridegroom with
clothes and ornaments is called :

(1) Brahma (2) Asura
(3) Pishacha (4) Rakshasa
fare o 78 w9 Rt @ 9 o, a9ET v e @ gy W anh @ 2
(1) #e faame (2) s Rure
(3) Rwma faae (@) v e
98. A nomenclature of the family function is symbolic of :
(1) System of reckomngdesoem

(2) Family succession
(3) Greatness of the family
(4) System of keeping names of the members of the family

M. Phil/Ph. D/URS-EE-Jan.-Dec.-2017/(Sociology)/(D) P.T.0O.
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(1) swesfy @ TToFT 2Ewn (2) wfiaits Iaviesr
(3) ufRar &t weErr (4) ufler & wewl w1 S T
99. Religion originated :
(1) Out of fear sense
{2) Inresponse to the felt needs
(3) In response to the authority of the power with the good of community at least

and protection
(4) None of these

o @) o g &
(1) w2 & wRY
(2) srpp savmmsl @ il 4
(3) W ® ¥R 4 [N # B A v gy 9 9 wReR sl
(4) S i @ wE =8
100. Which of the following is a belief system ?

(1) Magic (2) Felishism
(3) Totemism (4) All of these
Freifafea § @9 s @aen ¢ -

(1) wg (2) et
(3) =EwEE 4) @ =0
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